u;} Which book Buided the

olignr confederacy ngainst British which had a

maxim

bl L T B
I'retend submission gnq p

rocrastinate surrender before the formidable

enemy™?

(A)
(B)
(C)
(D)

(E)

Mahabharatam
Ramayanam
Panchathantram
Silappathikaram

Answer not known

“audllaniowren e Rl qper g Leanflsallan unsni@Ed sremagsla g faacy”

ey wp@unfl@dug eudlaumss adlprer Lreawdsngi sl anlyss

euyflamigus med

[ALmarrumelh :l

(B)
(C)
(D)

(E)

@gnmnd.lmrlb
LA
Haoufarmb

eHen Qafluddma

3 CCSE1P/2024
[Turn aver

G Scanned with OKEN Scanner



9 Towhom wealth compared to the full water of city tank?
(A) Man of eminent knowledge
(BY Ewvil friends
(C) Gambling
(D) Baseness

(E) Answer not known

wnmeLw Qedages awanggat 5 papds cemafiCun® aul@apnt?

lﬁ}u}urrj!m TaTen J

B) 2y
) e=
{D} Bl

(E) feac Gafiudfoon

3. Who is the author of the Novel “Kaagetha Sangiligal™
(A) Sujatha Rangarajan
(B) Vaali
(C) Javagandan °
(D) Pudumaipithan
(EY Answer not known

“snfss suddser” aap yHergher o Aflur wnf?
(A) uﬁ“ﬁ" qr&:ﬁuﬂHﬁTJ
(B) eumll
(C) Qmusnpser
(D) ugecoSsse
() &Aoo @sfluddaoma
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Match the following Titles of

the Kings:
(0} Pandivar 1. Andhavan
() Cherar 2. Thithiyan
(¢c) Chala J.  Chezhiyvan
(d) Ani 4. Sembian

@ O © @
frjﬂ' 3 4 2 1

(B) 3 1 4 2
(C) 3 2 1 4
(D) 4 3001 2

(E) Answer not known

werarisaiien ul_fs@ant Hummis s :

(a) wreTgwir 1.
(h) Cagh 2.
(c) Gsmpt 3.
(d) oy 4.

@ ® © @

(A) 3 4 2 1
mBE 1 4 2
C) 3 2 1 4

b

(D) 4 3 1
(E) el Qgﬂmnﬂd&mm

s
Hfun
Qsyfluien

Qe Quwedn

CCSE1P/2024
[Turn over

G Scanned with OKEN Scanner



n, rllhﬂ_ 'I]rirnu rl“l}r {][' thﬂ Cpn[ral I‘[l?ﬂlth Educﬂtiﬂn Burﬂﬂu lgﬁ'ﬁ wWas in

(A)  Free Health Care Service and activities

(1)  Health education in primary level

(C)  Health for all

(D) Coordinate and promote health education through varigyg
divisions

(E)  Answer not known

1956-& wiPHu sangrs o Laluase (PEelrenlod ELanD

(A) @aas sangny Gaenay whph rudur@sdr

B)  mvu few - waaEny seded

©) wmmamaen  RHIIE ¥ TN

(D) Weam  Gflaseflan apad sangnres  swdlew  guiflaargs
Ewthut@ﬁmdﬂ :'

(B) e Gsfludioaa

6.  What is the recent addition to the existing family of AYUSH system?
(A) Reflexology
(B) Sowa Rigpa
(C) Naturopathy
(D) Accupuncture
(E) Answer not known

AYUSH wann0@dr g@uouidd sbugha Cardsciu pern wingy?
(A)  AuQessvavnagd

(B) | Cemay Maum |

" Tr—

(D) e&@ougsst

(E) dfer Qefluddeaa

CCSE1P/2024 g | Y
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The goal of the Publie

(A)

(B)

(C)

(D)

(E)

glppriigen Gung fCunss HLphen @D&Cane

Food security
Equal distribution
Social security
Economic security

Answer not known

(A) Gmw urr@annu,j

(B)

(C)

(D) Qummemgny UngsIUY

sp AfGLUTED

sps LNFEIULY

() daL Gplludos

to nll citizens,

Distribution system in Tamilnadu is to ensure

CCSE1P/2024
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8. IQ R S Tand Uaresix members i!w. a family in which l!“‘l’t‘ are two
married couples. T a teacher 15 married to a doctor who 1s mother of
R and U, Q the Jawyer is married to ' h:_ls one son fmd one grand sop,
Of the two married ladies one 18 a housewife. There is also one 5tludr.-m
and one male engineer in the familv, Who among the following 1z the

housewife?
(@ P B ® Q
(C) S oy T

(E)  Answer not known

P, Q R, S. T oppe U ufCurh 6@ @¢@bupder 6 epideatsd. satssiod
Brew® Auvenore sgeufut eaeat. T eavar ap afflud wppd et
R wpga U-an Frungren mAGEE] narpgy GananFaan, R et gm
slL axbgupt, Gogud wwaun P g wanpgy Qaran@arerrt. P aduaimds g wase
whgd Gy Cuta saeent. Q@ Aovaora Quansdd et Slgd
@ruuan nhpbd ops EELUASS g e Qurdluret LIDL S Lom e
eareanenlt. aafld Spssan atsalld wot allwd @esEod Huan?

A P B) Q

C) 8§ D) T

(E) oSer Qafuedme

9 IfA=Z=1,B=Y=2C=X=3... etc.
Which one is wrong?
(A) M=N B) M+ N=L+0O+A+Z

(C) A+B+C=X+Y+2 (D) E,G,J are prime numbers
(E) Answer not known .

A=Z=1,B=Y=2,C=X
cefld a5y gauprans?

A) M=N B) M+N=L+0+A+Z
(C) A+B+C=X+Y+2Z (D) E.G,J esueas usr aarad
(E) ddaL Qsfudldea i j

3,..... ELC.

I
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0. The LCM of threa

11.

cannot be thejp IICF;]IHHUM numbers is 120. Which of the following

@ 8 . L
(C) 24 (B) 12

(E) Answer not knowi (D) 35

e Tensefier p o
EQU"'E”*‘%&@@&‘E.%EL:\J ey 120 aefld QerpésiulL adnaild g

ﬂ'gJ 7
(A) 8

€) 24 () 12
(D) 35
(B) Bl Qsflusciasen | I
If a= 22 x 33
b=3%x5%

¢=5"x2% then find the value of
HCF(a®, b)+ HCF (6%,¢%) + HCF(c?, a®)
(A) 36495 458 (B) 3% +2°+5°
(C) 2%+3%+5° (D) 5°+3°+2°
(E) Answer not known

a=2%2x3?
b=23%x5
C=52:-:23

cefl® B.Qura. (a, b*) +15.Qur.a &% %) + BQuna (c*,a®) an i
Enars

(A) 35420645° | (B) 3%+2%4+5°
(C) 2°+3%+5 - (D) 57430427
(E) e Asfludams
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12, Mantoux test is used for identify Disease,

_ (B) Tuberculosis !

(AY  Malarin
(C)  Cancer (D) Diphtheria

(E)  Answer not known

wrei_rdeh Cangenan Gpranw san g ds o gaydlps.

(A wCaflwn | (B) ansGgmmis |

(C)  yspCrmi (D) wuffwn

(E) Seou Qsfuddma

13. Eutrophication leads to the death of fish due to
(A) Increasing Oz content
(B) Increasing CO: content
(C) Decreasing Algae content

(D) Decreasing O: content

(E) Answer not known

gy Crr9Cacyafland Safler @miiyse snyemons RAmuug
(A)  msaligen sieray s Hafloug

(B) anfudierL sps@s@ aerey sfafloug

(C) undsar eanailéas apag

D) [(wscigs sea sapay |
(E) &L Asfluddaa

10 ' Y
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1.

(@) G20 Inclusivigy

Consider the [ollowi g
) G20's Constitvat.... .
:::H] {:EU'H '['r[t;:::*::}”m”.m n Formal Document

ANCe s baged on the principles of Consensus
'lm! Representation is the basis of the Presidency
Unity; rather than sovereignty -
(B) (i1) and (i11) only correct
(D) (i11) only correct

8
t“l""“'l'llﬂ, choose the correct answer ;

(iv) G20 Respect for
(A) (V) only corrpet
(C) () and (ij) only correet
E) Answer not known
l@gmu‘_‘alndﬁﬂurEmmm AEEmE, sflwnan eflen_eaniu Gﬁﬂﬂ"gﬂ@*&{

i G20- B aetan .r_mr}é'rummnmlluﬂmﬂ Gf repuiTen HImNGD

) {anﬂﬂ_;r-_il”@&mﬂm .@@mnmmnmm Gfis Gardamasa Bt LILIGDL LIT &

(1n1) {"EU_- Bemsaib eretm GanCum_nenangy e érerafudGULBID, SrBPPszand
=ARET BEQDDATTEN Biig Ll SaTED

(iv) G20- e hmemosCs wilwreg, ; 23
(AY (V) bl@wb sfwuneny i :B} (1) whmb (1ii) wC O #flurerg |

(C) () wpmd (1) wiGnd sfurangy (D) (ifi) v @b sMurag
(E) e Qsfluafdena

Reason and Assertion type :

Assertion [A] ; Khel Rathna Award - 2024, was also given to
Mohammad Shami.

Reason [R]:  This award was awarded by Anurag Thakur, Ministry
of Youth Affairs and Sports.

(A) [A] is false, [R] 1s true

(B) Both [A] and [R}] are true

(C) [A]is true, but [R] is [alse

(D) Both [A] and [R] are true, but [R] is not the correct explanation of [A]

(E) Answer not known

Sahm whmib snjemih euand |

smpm [A] 1 2024 Gaed THET eflmg ANGCs el (pawng slldEd auphisiul g,
: AL @evetgyt whmd  Amaruri (B SO

crens ] @35, shofaer off Bogiot wspe Samunioy

( [A] saug. [R] of :

(B) [A] whmun [R] @GT“@'LI" s

C A, o [R] peum

ED; {i]l ;mmfﬁr{ri sf1Gw, e [R], [A] 45 sfiunan dlersmn Gaema

(E) <AL Qpflusiidbad

1 CCSE1P/2024
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16, Which of the following statements are true in respect of laterite soil?
(1) This word 1s derived from Greek
(1) This soils are rich in Tron and Aluminium
(1)) Poor in nitrogen, potassium and lime
(A) (1) only (B) (i) and (ii1) only
(C) (i) and (ii3) only (D} (1) and (i1) only
(E)  Answer not known

afwamaer Lgflu Gaaumd smopsslia on sflunens?

(M Ges cirfgangunengy AGras Qiondudd @imiz eibzss

(i)  Eda Hoky whmo egndeflunt 65 ofisora o dramy

(i) g pl e, QurCorfund epmd senainby gaepans o
(A) (1) s G (B) (i) ogmid (i) wi Gio

(€) | (i) mmmimm@ (D) () b (ii) wC G
(E) e A T T

17. The river which has the largest basin among the following in India is
(A) Godavan (3) Kaveri

(C)  Mahanadi (D) Krishna
(E)  Answer not known

Sehamis Stdu phawra obs eybpo@msay Qanam_g
()  Carsneufl :l (B) snGeur

( B (D) dmeseamn
(E) e Qsfiwedldan

18. The Norwesters bring about 50 cm rainfall in

(A) Assam (B) Odisha

(C) West Bengal (D) Karnataka

(E) Answer not known

grilauir, 50 Gs.8 venpumSees —— BLidd grdpm
(A)  amb J (B) quqen

(C) Tuis awdarenn (D) atpm_ad

(E) eflenc Qsfuefdena
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@ I the Sultane rule

ay  He wag ity
Devana-Wigza ra

{”} II'.I_ Wl I l'"'”,”tj”n tn H”l-".r-l.rjlq-lr I'HI]:; 1‘h|1 iﬂﬂﬂlﬂrr "ﬂ.fl I'I{H'Hdﬁturr.
of the lli*purlml-nt.

Which of the ahioye statements are correet?

(3 0 () (i)

[ﬂ} h} and (Ii]‘ ['“} Hl’lﬂ" "r[.]'H' ahervi
IE} A“‘i“f—'r nrit k""wﬂ

the Prime Miniater was knewn as Wazir
1y the hend of the finanee department ealled the

seopneilutasdice wc figg, Brgis nhBA condlt ering ey AsULLLT

() Hawedl-f)-chinmgny Cdimenganciu L S giapho, eatare pusciras
e L

(1) mepdipshe e Drsa 08 0 A T Rurduntaan@fo G pfeimpant
{;mﬂ;»{rr.'lﬁ-‘-u safimpaatid) ewe sdlunaame:

i (B) (i) _
(1) wmpib (11) (D) Copmuaiiic egend §das
calen Watwehldiena

A
(C)

Choose the right matches among the following :

(1)  Aryabhatta — Aryabhatiyam

(2) Varahamihira —  Hast vayu veda

(3) Bruhma Gupta - Brihat Samhita

(4) Vagbhatta - Ashtanga Sangrah

(A) (1) and (4) are correct (B) (1) and (2) are correct
(C) (2) and (4) are correct (D) (2) and (3) are correct

(E) Answer not known
Apsemcupmen sflwnal Quumpdumsd Carey Qals,

[]] -%FHUJ L fy - %Iﬂl.u U”L.—EPJJLJJ-

(2)  eugraofdgt - gore winy Gagr
(3) AnbuoEush = Lgtl‘:ﬂﬁﬁ sgdiar
(4) eumsumiLm - MEYLM& SAKTT
(A) (1) opmgd (4) sfureras) (B) (1) wpgs (2) sAurerae
(C) (2) cpmd (4) aflwmenenad (D) (2) whmns (3) sfwrereaa
(E) eflen Qafluelama
1 13 CCSE1P/2024
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The Article which is not related to Chiel Minister?

(A}  Article 163 () Article 164

(C)  Article 165 (D) Article 167

(E)  Answer not known

SAnfluaasda ops S gm wnfle aoecispra Gpnity@LLgde?

(A) A4 163 (B) 241 164
LE-E & 165 | (D) &4 167
4 e Gafluefld e
22, The word ‘Parliament’ is derived from the ————— word 'Parle’ which
means to talk,
(A)  French word () Latin word
(C)  Greek word (D) Spanish word
(E)  Answer not known
‘ungrEgedape’ carguh Gard, Gus ey Qurmer_hfw ‘umiGa’ edgyb
Qendeliallnbey Quoiuc g
| (A) G CyEya. @mnkﬂ (B) wadar Qomd
(C) &HC78s Qiomg (D) svurafiey Qomyl
(B) dleL Qsfluddme
23. (1) The President of India is elected hy the system of direct elections.
(11) The President of India is the Nominal Head of the State.
Which of the above statement are true?
(A) (i) only (B) (ii) only
(C) Both (1) and (1) (D) None of the above
(I2) Answer not known
()  @rdw gendud Gatops Cstad ppad Caip@spasnu@fpnt,
(1)  @pdw gerdud Quuredd srflar gavaat wyaunt.
Cuopssn sappéselld oy sfunans
(A) (1) oo @b | (B) (ii) wi@wb |
(C) () wpmb (1) Arer@od (D) Cuodser. sevarufidaa
(E) &L Gsfiudfdma
CCSE1PM2024 14 T
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a4, ‘.‘r-hlltll of the fu"nwiliﬁ schimps i bt Thie Rural l-:lr_zi'triﬁt+dlllf1n'."

e "] T:i'ﬂ“ I}ﬁ}'[ll lIIHHh}-“.{-” “.””“ l_I‘.-'lﬂi. ‘I'“j““:l [I}I}IH:']‘-{J
{“] l'm-n ”F_I}'nl Um"hl"'-'l'}'n t‘.’rum.-r:n Koushalya Yojana (DDUGKY)
(i) * Pradhan Mantri Sahaj Rijili Har (ihar Yojana (SAUBHAGYA)
{I‘i] “} :1]“.] {lll} ﬂﬂ]_‘l,' “” “} [!nl'.l [l“l "ﬂll',ll
(C) (1) and (i) only (D) (i), (iy) and (i)
(E) Answer not known
Ao Elenowinns . L Quims Gandrd
Db, (BE<0 ey @i Hocraefldn apaunts pen WU
(1) g’m g e ungiimw fgrn Cgrfdl 0010
(i) B gwrar eunfor Hyrlean Queanadwr i
(i) Gngnen wAAA sgmng Gged got st Gungenm
(A) () whmb (1) 0 G i b (iii) LG
(C) (i) opgud (iii) v G D) (i), (i) wpgan (i)
(E) el Qaflwelldbensy

25, Which of the following is not correct abbreviation?

(1) RLEGP _  Rural Landless Employment Guarantee
Programme

(2) SGSY - Sampoorna Grameen Self Reliance Yojana

(3) CSRE _ QCentral Scheme for Rural Employment

(1) NREGA _  National Rural Education Guarantee Act

(4) (1) and (3) (B) (2) and (4)

(C) (1) and(2) (D) (3) and (4)

(E) Answer not known

Gerameramapild & SEUDFQTE Qunrmaslul R ?

(1) RLEGF - seps DoopCorrasra Gaume el HILb

(2) SGSY ~  sbyienn as sweriy Sl

(3) CSRE - wifu eo7a Caueaamily Al

(4) NREGA —  Cupfuw eegs sdefl ppfld SUL0

(A) (1) oo (3) (B) (2) wpmw (4)

(© (1) wipe (2 G“) (3) whmib (4) |

(E) e Qafluciidad

15 CCSE1P/2021
[Turn over

G Scanned with OKEN Scanner



@ In 1947 Indian National Congress agreed for the partition, because
(1) The principle of two-nation theory was then acceptable to them

(2) It was imposed hy the British Govt. and the congress was helpleg
in this regard

(3)  They wanted to avoid large-scale communal riots

(4)  All the above reasons

(A) (1 and (2) are correct
(B

i

(3) and (1) are correct
(C) (3) only correct
(D) all the above are correct

(E) Answer not known

19470 @sHw Cadlw anliyey a4 Sfidlenenss @liys QanednLg). gQaraid
(1) B Czes Cartun® satsarma GhpsQandrariuc g

(2) Ofigey wrsre Paflasiu s vppd  svudgey Gis Heywsd
2 sefluimg

(3) wersd Quilu eerdane QELUAITS samtis®n selids o mbGan
(4)  Copsmfu soay smantagb

(A) (1) oppo (2) &M

(B) (3) wpgv (1) & |

(C) (3) wipn &M

D) wwagsb sfunag

(E) e Qsfluedama
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= In which #easiog

Vana was First Sung?

(A)
(B)
(C)
(D)
(E)

apger (pgans Hﬁﬁl‘f LT T SEn und 534

1911 session g4y M

1911 gessinn o Delhi

1911 sesa10p heeled a1

Uf lndiﬂn H

umbiag

aleutts

1911 session held at Bihar

Answer nnt knewn

mrr;i,rn'_l.q,da LJrr._.;u"_J_a?

(A)
(B)

1911 gptanu T s &

1911 Qi W e

(C) 1911 scingzn LT |

(D)
(E)

1911 Sarnfr wrpm g

flen. Gsfluclcaa

atinnal Congress the

Sony., Jana Gana

u Csdu srikrellar s

2./3_,,1 Which of the following is not correctly matched?

(A)
(B)
(C)
(D)
(E)

&mm@mwmﬁpﬁﬁ oz sfluns Gun

(A)  gramumi @peCong
E: sl uml G

Dadabhai Naoroji
Savitri Bai Phule

Surendranath Banerjee

A.O. Hume
Answer not known

East India Association
Servants of India Society
Indian Association

Indian National Congress

cisdldaa?

Epés B3bu stsd

==

griurdla emfut sLsd j

(C) aGppfly g urargg Eifu shas
D) gg eFud -  Ephu Cplu smblne
(E) &Hen Eﬁ,ﬁmnﬂa’:mm
L CCSE1P/2024
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?:9.’ Who among the following was the India's first woman House Surgeon jp

the Government Maternity and Ophthalmic Hospital?

(A)  Rukmani Lnk::hmipnlhi (B) Muthulakshmi Ammaiyar
(C)  Sarojini Naidu (D) Moovalur Ramamirdham
(E)  Answer not known

D&apaaaidéd o wsuGup whpd sar whEgewaausld QENTLEAE
aadr Quen LDl spaa Adsas fuart war?

A) ol acsdud | (B) epamersfl sbenpwmd |
(0 sGonglall pow@ (1) epargrr @gmomsigd

(E) e Gsfludaoma

%0. Which of the following statements are true about S. Ambujammal?

(1)  She joined the Non Cooperation Movement in 1920

(11) She was nominated to the Madras Legislative Council in 1926
(111) She formed the Women's Swadeshi League in Madras.

(A) ()only (B) (1) and (ii1) only

(C) () and (11) only (D) (i1) and (i) only

(E) Answer not known

S. eibygbwrer udflu Geraumd eppaslis erg o draw 7.

()  @aut 1920-0 ppp gsgerypunan Quisidd sben Eaanszs Qeram_m
(i1) @i 1926-& Guwlgre slLsau saEnfigss fuvend Qelwiuce

(i) @ai Qearamente uerse sGssl Quidatans o mansdan,

(A) (i) oepo @{i} wpps (i) L @D |
(©) () wbpo (Doces (D) ) wpgs (i) oen

(E) L Qafluddeaa
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7

_ m thatindhthezhil
aan nalkamboaal: . wezhii :

Thirukkural, hy 'I‘hirl.quhWn

£
(vor wealth wil]

Asle away except the cloud 1ts stores repay)
(A)  Land plowing (B) Donation

(C) Great sen ' _
Worsh
(E)  Anawer not known (N} Worship

"o ﬁ[.hlrgﬁﬂ!m (& @y B As ﬂhﬁ:ﬂ.ﬂ
grer paanprdl S’ — e @l op e edip Hrmaemasant snmAlon

(A)  aftan P Tt () grand
(C)  QnEiis_d o
- WL fal it i edl o ena

“ oadvvirandum

kanenba vazhum uyirku” these two are the eyes of human beings”

Which of the following pair is compared to eyes of all human beings?

(A)  Virtue and Wealth

(B) Impartiality and Self control
(C) Wealth and Love

(D) Numbers and Letters

(E) Answer not known

" Beucfnetr HLd

sanblendiu arQp (pOIrEs

CuopamamyLb ArhEpaid qoa @reracd Hradgnul sensEeE euunss
samdlmni 7

(A)  oipepd QurE@hd |
(B) mey ,lf,!ma:mmum T = Syl B e
(C)  Quanmess @arugpd

(D) eTemEmid m@{&@d}

(E) eflen Gg,rﬂmaﬁ1dumm

19 CCSE1P/2024
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jj Which one of the following statements is/are correct regarding the

Arikamedu excavation?

(1) Arikamedu found at Tanjavur

(2) It was a port under the Cholas

(3) It has a trade relation with Rome

(4)  The Ariknmedu Fort has close trading contact with
Kaveripattanam, Alagankulam and Musiri

(&) (1), (2) are correct (3), (4) are incorrect

(B) (1), (2), (3) are correct (4) is incorrect

(C) (2), (2, (4) are correct (1) is incorrect

(D) (1), (3, (1) are correct (2) is incorrect

(E} Answer not known

fasC0@ Gpradud eiamefa sppsale dbsen maselld sflures o2

(1)  =flaaGu® sesarput woe’ L g8 sewbgaag
(2) @ e Canypraaflar gerpapan
(3) @iaiepoead Grmd prc Qe araflu e pa) Gandng mhss
(4) =fasbol gpepyss sbafiuciand, spsaged wipd apdld
geoppsndigha xrrdu aeflag danity Qaramgmlbss.
(A) (1), (2) efwreng (3), (4) scupraigy
(B) (1), (2), (3) eflwnawsy (1) samransy
E{G} (2). (3), (4) sflwraz (1) wi @b gmmnmﬂj
(M) (1), (3), (4) sflwrang (2) vl G seprens
(E) e&len Qafiuddame
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“ Which of the following carructly paired?
(1) AIMS
@ 1CCW -
@ NIPCCD -

All Indin Instipyge of Medical Sciences

Internationg) Council for Chald Wellure

National Institute of Public Cooperation and Child
Development

(4) 1CDS - Institute of Child Development Service

(A) (1) and (2) are correct
(B) (1) and (3) are correct
(C) (2) and (3) are correct
(D (3) and {4) are correct

(E) Answer not known

frsan_auppen of #fluns Quomdsiul Gaam?

(1) ATIMS - ado Bréu veiye sfsd@ud By

(2) ICCW — Eppassi pogiseta stalas meniy

(3) NIPCCD - Gafu Qury gimegiy Lipn Epiesss CGuiumn @
Ppaerd

(4) ICDS — Eppagss Codun (s Sl fpeerd

(A) (1) wpmb (2) sfures
(B) u]mﬂgmtma-ﬂwm@
(€) () wpp (3) efwnad
D) (3) wppo (4) sfwres
(B) dleoc Qafudidad
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33 Free and n:.mpu],;;nr}' etlucation to all chaldren of the age of 6 to 14 Yeay

in such manner as the State may, by law, determine Ihll‘“"l.lg

(A)
(B)
()
(D)

(E)

Constitutional Amendment Act.
T3
SRth
7204
R()ih

Answer not known

Guinud winpd Seessdd samagy 6 gpad 14 awsm war cae

EphergmErAs sl Lygtanors s epns Sas@ln o flremmunmeny

sl gl masddlen ppanmgi.

(A) 73
(® s>
(C) 72*
(D) 80
(E) aflear Gafludfdaa
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s

(963 + 476)° 4 (963 - 92

(963> 963 + .1';-?;_‘4‘55- =7
(A) 1449 -
, () 4
C) 2
© 2 ) B

37.

(E) Answer not kp P

(967 + 176)* + (963 - 476)2
ey 200 +1063-476)".
(963 = 963 + 476 «A76) =7

(A) 1449 (B) 497
@ 2 M) 4
{E] ehlan G]'.'El'ﬁl.l_ll;ﬂd,;mm

Inan AP

fag +lay Hlag 4 ia 3 =0

Which one of the following is false?
(A) 145 =0

(B)  tq. tag. t50. Ly form an AP

(C) If n +n,=50thent, +t, =0
(D) 1f d is positive, a is also positive

(E) Answer not known

lag + 131 + Lag + s +I§g =0 v gn &L Cerifld meupiid

Gereupeuamaippt a5 gAPTTHT

(B)  tg, tag. Lo Lso TETLEU BLOE Qpmeny emanAgid

(C) ny +n, =50 aald by, +ln, =0

[D] d Seos aaflé @ ab Has ER :I
() Har Qsfludaad |
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38.  The maximum speed of the Elephant is 20 km/hr, the Lion is 80 krn..f};,.
and the Cheetah is 100 km/hr. Find the ratio of the speed and find whic,
ratio is the least one.

(A)  The Elephant and the Lion
(B)  The Lion and the Cheetah

(C) The Elephant and the Cheetah
(D) The Lion and the Elephant
(E)  Answer not known

wraendear sfsee; Casd 20 .8 /oafl, fisgfer Casb BO £ .2 joet

HFotmeGer Gausd 100 448 jvaf. sae Gasiasta Jfsisae sam(d vig
lslan Aflug oo sramas.

(A)  wmenen whrh HAlsb
(B)  Ahus=i infmd fpkans
[(Luurrmm whmb Apses
(D) fran WOhmID wrane
(E) o Gaflubaan

39. The traffic lights at three different road crossings change after every
48 sec, 72 sec and 108 sec respectively. If they all change simultaneously
at 8:20:00 hours. Then at what time .will they again change
simultaneously?

(A)

(B) 8:36:42 hrs
3 (D) 9:27:36 hrs
(E) Answer not known

apaiy QadCam srae spdiyssafa oo Curdmantsy =055 Saamsa
epaepGu gabanm 48 o, 72 &, 108 dlzresa®a crimbd e fdane. L

Eﬁﬁﬁ!qﬁﬂiﬂﬂ'ﬁl o_&Tar ﬂmﬁ@@m E{:g Jmu;ﬁﬁm S-20:00 Lﬁﬂﬁﬁ@ wrtr s
s Sldper el wBEs wap siaa Beanpn wrpmhd seiagy alGurg?

(A) 8:27:12 ved (B) 8:36:42 cefl
(C) 9:02:00 wef (D) 9:27: 36 wad
(E) sfar Cafludaen
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W0 Conceptual learning lays emphasis on :

i

@) m:ukir}p interdisciplinary conneetions

i) recalling concepts

(it ?Frﬂlﬂnu knowledge in new situations

(jv} inteprated “F'Pliﬂal'.inn ﬂfkt:}' printip]t.'ﬁ

(A () and (ii) only (B) (ii) and (ii}) only -

I:C:l {I-]! ':”l:l and {lllll ﬂnl}' [IH (1), [n;} and [n’) I}ﬂl}'

(E) Answer not known

s(padlud sppe auclluymd = dlnm.

() uaGay gopsessda Cu FwariGena

(i) srsmbsmear Hwana) smigaa

(1) uflellener LmF godld Luau@isso

(iv) pédlu GanlunBualer guudleaanps Ly e ig et

(A) (i) wopo (i) 0l B E@j(mmm (i11) i G

(C) (1), (1) wpmubd (1) i G Dy (i), (iil) wpmbd (iv) L GD ]

(E) eflean Qafluciidara

Skepticism means

(A) Unbiased attitude of an individual

(B) Itisan appeal to simplicity _

ientific explanation

C) The preference for seientific exp _

:'D:;n The belief that nothing is final and permanent nl_lternatwes are
available and there is always a scope for innovation and [inding
something new

(E) Answer not known

SgyEsTaneuTs D eTaTUg

(A am g mLflen unuLsndn SEUEWPED

(B) o Caushr (HGansd

(E)

@ S ereflanowim

parar gpargifienn

. g eTe D j,'thlﬂﬂiﬂJ& m;bg]m ﬂqﬁﬁqm;ri!r .mrr_lﬁg{ ;
E@rﬁL%ﬂ%ﬂTEdm&L@MWﬂJmmm ﬁﬂ'@lﬂqﬂugm&rrm UML) L ETeTenel

ailan_ Q:ﬁﬂuﬁﬁmm
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Match the following -

(3) Dr. Ambedkar Award

() Thantkaj Perivar Award

{€) Ramarajar Award

(d) Tami) Thendral ThiruV.K. Award

@ ) © (@

S. Jevaseela Stephen
U. Balaraman

Suba. Veera Pandivan
P. Sanmugam

g . R

. (A) 3 2 1 4
B 1 1 3 o
(C) 4 3 2 1
Dy 3 9 4 1

(E)  Answer not known
S_rmins

{.Ehﬂ I-_-""-l._:'—"_ -;5-1.:_',':..__1{.&"'-': ﬁ&ﬁ l. ee. qu_hfi:rr U e Lol
() zias Qudir: Sy 2. o uagmod

(c) ETIITRT & my 3.  &u. &y unaimgwen
(d) 55355 Cearra fofsdpm 4. Qu sangpabd

(@ m (© (@

(A) 3 2 1 4
(B) 4 1 3 g
(C) 4 3 2 1]
(D) 3 2 3 1

(E) S Qafvdtaas

43 Who is the author of the book “The Romance of Salt” which is mentioned
about Gandhiji's Thandi March?

(A) Anil Kakodkar (B) Anil Tharkar

(C) N.K Singh (D) M.S. Swaminathan
(E) Answer not known

spfgda gars ralvvargest upflu “The Romance of Salt” aenp grave
cHuat mm 7 —_———

(A) =ad aCamiss GB] sefld E”ﬁﬁﬁ:l

(C) e&Gs &u (D) erb.erein. seumblBrgen

(E) &au Gsfudda
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. In India, Daflg tribe is —
(A) Tripura
(C) Arunacha] Pia dissh
(E) Answer not known

(B) Assam
(D) Sikkim

LealJOT LIDR,

(A)  Aflygn SRR
(O semmecdGem ) () pase
d e L #, . ”-'Eﬂd}t-m -

?;,f India’s population census system was started during the year

(2851 (B) 1861
(C) 1851 (D) 1871
(E) Answer not known

lq"-ls'ﬂTﬂ' @ﬁﬂmwﬂm ‘TFEJEI aﬂmﬂuﬁ.ﬂmﬂmﬁ" .

Eifwredld wishlsnmss sansefuy GaremstiucL e

(&) 1881 | (B) 1861
(C)y 1851 (D) 1871
(E) eflev Qafiweddana

46. The term “Operation Flood" is related to which of the following products?
(A} Milk Production (B) Fish Production
(C) Apiculture (D) Alga culture
(E) Answer not known

‘Qeugrer pLalGS@S" eranp Gandanang esELe Gsmofye g ?
I (B) Sen e pupd
(D) mdan eeriiy

|{A) Lnd 2 huss
(C) Gsaf awsniiy
(E) far Dg.lﬂmﬂﬁ.}ﬂ?m
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"I;..r Mateh the follnwing

(n) Gwalior Fort 1. Shah Jahan

(b) Shahjahanabad 2. Mansingh Tomar
{¢) The Jama Masjid 3. Shershah Suri
(d) The Purana Quila 4. Babur

(a) (h) (e) (d)
- A) 2

1 4 3
(B) 1 a 3 4
(Cy 1 3 4 2

(D) 1 2 4 3

(E)}  Answer not known

Cdaaumauaadan Qurmiss -

(4) sardus Carcar 1. G T AN

(b) eyrgmsnannurg 2. wredii Cxmot
() fowrcsd 3. Ceyregr sl
(d) yrrerr @B 4. umat

(a) (b)) () (d)

@z 1 4 3 )
(B) 1 2 3 4
© 1 3 4

(D) 1 2 1 3

(E) fac Gafiucfdae
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. i i "
Pl on ke ey e
"“.”Illl‘l'lq.

Ml MG

e a1y thimegn T b inn of Htnte Laginlntive

(1 (1) nnel €1id)
(I (i anly

,U-H'l,.ﬂJ ﬁ:l'.-i-'”'i ".'..}#,ru fognmem P.HJ:'[JHI.H A B e

(B (i) wmmeh (1)
(00 (i) e ik

(hoase the ecorreet matehes nmong the following on State Loegislature,

wmflen o nenm
{]] lnnﬁlru”"llmgﬂhh E:-majﬂlu.lﬂuﬂllﬂ lrw*-{f,ﬂ.m e

(2)
()
(4)

AR B (1t T 5,610

inmdien v L nedrmmimertlan Lpeilanrad -

e iflen Ay
amgndmidnh LI g

Con

(1) b (2) mn'_@D

)
(E)

(2) inpmub (4) oLy
et el f}‘i;.ﬁlma.l'ﬂmmm

~ Article 169

Article 172
Artiele 174
- Artiele 176

(1) (1) and (3 only
(D) (1), (2) nnd (3) only

(1)
(1] Artiele 1)
(i) Artude 1)
(iv)  Article 1t
(A ped ()
() () only
(1 Answer not knowy
e o0 R 8 S e
atni (il
(i) s 1HOD
(1Y o 140
(1iy sy 141
(iv) g 192
() 0 o (i)
(CC) (1) (s
(I3 shlenr . Claflusefldina
(1) Abohition ar ereation ol
Jegnalntive connels i States
(2)  Duration of State Legislatures <
(3 Speaial Address by the Governor -~
(1) Assent to bills
(AY (1) and (2) only
(C)  (2) and (3) only
(E)  Answer not known

Qi tuner Kpdas Flwenniis gllunansupenn Catpan.

ey 16Y

e iy 172

= ooy 174

- By 176
() (1) whmnds (3) Wl Gub
(D) (1), (2) wpmd () wi (b
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an,

Match the followi ng:

(1) PM eVidya
(b)  PM Poshan Shakti Nirman
(¢} Vidyanjali 2.0
(d) SAFAL
(@ ® (© (@

(A) 1 2 3 4
(B) 4 3 2 1
(Cy 3 4 2 1
() 2 3 1 4

(E)  Answer not known
Blenaymesarapanmy Quiries :
(a)  PM edflgwn
(®)  PM CGunegren a6 Dwen
(c) efdwngisd 2.0
{d} L AT

(@ M @ @

(A) 1 2 3 4
(B) 4 3 2 1
©(8 4 2 1]
(D 2 J 1 4
(E) Al Gafluafidaa

1P/2024

30

Testing core coneepts,
application based questions,
higher order thinking
Volunteers ta contribute assey
materials / equipments to
schools

Digtal education to cohere
multi-mode access to educatig,
Provision of supplementary
nutrition at Schoaol

Comzamen siglium &
uwdrun() sndhe Gaer
auflens Flfigenen
gemanrirevafhad, wdaretlsiong
ﬂ.&nﬁs@&ﬁﬁf@un@;ﬁm:@ e

B Lstanrdiser Cumenpeuden
Qs

‘*E@L.—'-‘i‘ sodfllfldar @l
LEps OpanD Hebell oo g sk
watefllld) m Bz el Ssfeans

R D55

& s,
ST, oo
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—_ _ VaSthefirg
(A) Maulana Azad

(C) Sayyid Ahameq

{E] ME‘WEF not knﬂwh

Muslim leader to demand for Pakistan in 1933,
(B) Muhammed Ali Jinnah
(D) Rehmat Al

-é}?a:nﬁq_ unﬂm&"m""”ﬂ' Garflaers BfAs psd qpevald paaat

(A)  Cuweranenn e

(B) gpaiom el dilarann

(C) @aug s @ arpop = )
(B) eferr Qufluchiaame

Read the rﬂuDWi“E passage and answer which event or movement 1s
mentioned here :

“It left a profound impact on the political history of India. From a
political angle the measure accentuated Hindu-Muslim differences in the
region. By giving Muslims a separate territorial identity and a
communal electorate the British government in a subtle manner tried to
neutralise the possibility of major Muslim participation in the “Indian
National Congress”.

(A) Partition of Bengal (B) Non Co-operation Movement
(C) Partition of India (D) Poona Pact
(E) Answer not known

Garaumd ugdowul sy THE Pepay aday Bussd GAodLiu ey
erehmy LD Fraybd.
' #lwd
“ ; Hud eqarpiléd spona sréssans ﬂ'mu@_,s,ﬂu_@. QU <1
G%?m@%%m ggﬁ wj_f,._.mqéma aouEfde @im - edd Cagurfaad
el IEMLLI (}P'«‘-‘Uﬁm"@ﬁ@ &k IHWEQUJ -L—.'.'-lEﬁ'lL.qur?T'E.m{gu_[m AT SWIET=Th
LD : &l & apiEasd ppad Gl gds psrhian mCLWTE apenpudd
ekl fradld  @pevelid uiGedien snﬁﬁmgmﬁ apfhoig s

Arfly Geflu &
Pupdsss -
m[mmmmuﬁlrﬁﬁma (B) Eﬁﬁﬂmgmrtmr.ln @wEsb
€) @pdun Oflcleen (D) yerr gliupsd

(E) eflar @gﬂusﬂiﬁin‘-ﬂl
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Who remarked. about Rani Lakshmi Bai as “Here lay the women why
LL) - l-n-H:I
was the only man among the rebels”, during the Revolt of 1857

(A)  General Hugh Rose (B} John Lawrence
(€)  Colonel Smyth (D) Colonel Wheeler
(E)  Answer not known

1857 Y dlGen Curgy gred wisd und upf “Batsfureissfld g6y Sanny
B@te Ouenr @ruls Agaouc @ Besdont” aam wrt GG Cnt?

{I‘E Qggergdr afly Gqu (B) ggnen wngenan
(C)  staa cudy (D) strardd afantt
(E)  eferr Qafluclame

Which of the following statements are true about 1857 Revolt?

(1)  Even before the out break of thé Revolt Mangal Pandey had
become a martyr

(2) At Kanpur the revolt was led by Zeenat Mahal

(3) Kunwar Singh was the Chief Organiser of the revolt in Bihar
(4) Rani Lakshmi Bai died while fighting on 17 June 1859

(A) (1) only (B) (4) and (2) only

(C) (1) and (3) only (D) (2) and (3) only

(E)} Answer not known

1857 — dlarrad) updlw Génaimb sapmiselld erm e @raning

(1) Aatédl Qaguughs aperGu wlisd e Eota Aurdwund B mh
(2) snenyfld elfent waptd gewanda dariss B 5y

(3) senaut A Eanfld pLis darrsdlew smaewlubn pLsfemt

(4)  Grredl Qaayfiumi 1859 grer 17 sermy Curil EmEgnh

(A) (1) el (B) (1) wpmds (2) v @

(C) (1) wpp> (3) wL Gy (D) (2) wip (3) v G
(E) dla. dafiuddma

S1P/2024 32 y

G Scanned with OKEN Scanner



-

-

th [Minance (Commission,

-ordance with the : f
n acco * recommend: e 19
I mmendation of tl of which 0.5% will

Etﬂtf:: '|l.'i” IH-" ﬂ]]“'ﬁrud Q ﬁ.:'ﬁf'il,] dt'ﬁl‘jt ._|.|' .’I"““ ﬂf“l:':ll”‘
ht, [it'd- Lo rl'fl'lrnl Ihll '[u"ﬂ“].ng

seclor.
(A) Agriculture reform (B) Power sector reform
(C) Industrial sector reform (D) Service sector reform

(E) Answer not known

. -0 L 1:['”?-"
lﬁi-h ‘9,'{-5 Er"EF-'Em ufim;r-rﬁgﬂ,a-u4_ mn}?ﬂi&ﬁfﬁﬁ@ {lhnl “ ,
5 ' = s olial® W'Y
HOUDTTESD -J-gg-.:,_'l:'u.uu@._b_ A 0.5% Ganauymd S0

I-*,{JL"&&E.JE#S;:‘J Eeartsiy B,
(A) eSasmut gep Er,m wfesd g )
(C) Gz f= yep (D) Csam §@0

() e Gzfludaea

a » Entry
Which of the following statements are true about Temple ry

\Movement? | | t

) The British Government in the Madras Presidency passed an Ac
on November 1 of 1817 -

) It supported the identical powers ct'Tvr:!pl:e Mm;mf:. me

(iii) [t was the model of the Bengal Act No. XIX of 1811

(A) (i) and (iii) only (B) (i) and (ii) only
(Cy (i)and (111) only (D) (1) only
(E) Answer not known

LS : £ &nanoumer
_ : apay  Cumriigdeas upfu
Spana@nuap e Sy EEL

smbdlae el -
? QA ey e G

T oCgme GrAQ sl g sLLEES
(i) pasurl, 18li@S

..;l_rl‘.h LS
'3 Setens :'—' Lih midudt XIN. 1810 & eever onffians QS
() auuaTeTe Sl e ) —
} fi myud (111) L:LmB o e SR
(A)  (u) wpmo LTS (D) (111) @b

(C) (i) wpged (1) LLBS

(E) Sav afaué‘mn‘-ﬂ
CCSE1P/2024
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. Makkale Volvar 'Knyavar Avaranna

”F*I"Hln yaanganta thil
= [0 this verse who is mentioned as Kayavar?

(A) |rrl-hpunnihli- [rreruins
(1) Inelividun) eriples
() Aimless peoples

(I Al of Uheene

(E)  Answer not known

A e Qindisut “mu et R ER [*ad
L 7L i USTE ST <700 j;"ﬁl

-G mndis) suei ca wrans @ fudGAdpan
(A) ':i-rfr:,;u'n.":lﬁ,mrrgmfmm

fHJ iﬁ’f}”llli’.r:uﬂﬁﬂ ARG ¥
(C) Qg

ubie Gt uaifrad
|'I'”} Biwa: npaemn l

) e Us Myl dae

O, According to Valluvar instruction, “The person who follows an ascet
life", what should be done to avoid contempt?

(A)  Non stealing

(B)  Non killing

(C)  Nonangry

(D)  Non desire

(E) Answer not known

L]

miﬂ&*ﬂ"fﬁ E'!iﬁvlﬂ T Mﬁ' SASUTEST  erehen Sgin .
et (il eTery cudrigmquft hﬂ'ﬂ*ﬂﬂ%‘ ” Sudss Cumpdard

(A) adwrmwn

@ anderann :l

((C) Caruibk Qandenneny

(D) smes i ras

() cfen. Qfluchidiens
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o was the first g, _
7 W ““CUsed in the Ashe murder case?

(A) Sankara Kﬁﬁhnﬂn

(B Nilakanda Bmhmﬂﬂhari
©) Madasami

o) anchinathap

(E) Answer not knowp

ey Qarme anphdls; apyg, Gopeuned wmt?
(A) sy Hndyemen

]]Eﬁm&ﬂh'rl._ Eimn m@

[T .. il

{U} s & o e
(E) fen. Qaflueldma

g0. Which place was the most important learning center of the Jain
" Scholars?

() Madural

(B) Trichy

(C) Tanjore

(M) Thiruvalangadu

(F) Answer not known

Qeneu(meuananmeT S0 afletsdlia éfu sipd @mouwrs BEss Boo Fg?

(A) gy
(B) &msa
(C) SEhETaT

Ii} ﬂ@mnmm&ﬁ@

e Q;rﬁmeﬂﬂmm

f 35 CCSE1P/2024
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61. Tamil Nadu follows to implement the family welfare Ay,

Child Health Programmes in the state.

(A)  Community needs Assessment Approach
(B) Strategic Plan Approach

(C)  Top-down approach

(D) Strategic Management Approach

(E) Answer not known

woblogdd E@bu pad vpmd EPiopse sargny AlLdsoma Qeudufs

sB8DE0 Geruppdpg.

|{Px] aeps Goaausd vdudl@ agnsopan I

(B) epCamumu Bl SHEEPOD

€ Codops &) smepop
(D) epCanumu Cuaradraw < BN (e D

(E) afec Gafluddama
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“.fhich of the fu"“""ﬁnﬁ 15 Incorrect ]y paired?
(1) Child Helpline

- 1098
{2} I"Iq:lil;lr‘.".l[‘I‘IEH IIEIFIIDE‘ - 1090
{3} C}'hﬂr Cnmﬂ IiEIPlU’IE - 1940
(4) Coastal Security Helpline - 1003

(A) (1) and (2)
(B) (2)and (3)
(C) (3)and (4)
(D) (1) and (4)
(E) Answer not known

Gemeu(mesareufifles efy geupns Eamamsaiul flaang?

(1) (swhmaser o gefl eTae — 1098
(2) Quensst ogeldl e — 1090
(3) evsun Aapd ogell aan - 1940

(4) sL_Ceomyl umgsaiy o gl erer — 1093

A) (1) vppe ()

(B) (2) wpgpod (3)

@ (3) whpO de

M) (1) wpgwd (4)
(E) fea Qzflusdia

y a7 CCSE1P/2024
k ' [Pl o

G Scanned with OKEN Scanner




6L Choose (he correet one which is not included in Human I}|e~‘1,n-lr1|nnprl
Index estimate.
(A)  Life expeetancy (B) Education
(C) Per eapita income (1)) Birth rate
(E)  Answer not known
wally,  wendh)  @fdlm  Podlyd  Gardsiucns afluwsmen e,
[:.E.ﬂ]!}[:}p,ﬁ;‘l Aaayh,
(A) gl erflhuminiy (B) mdafl

(C) seflmun Qinonanh |: (D) @poy f-‘"@
(1) aflen WAl b

6.

Consider the following districts of Tamil Nadu :
(1) Kanyakumari
(2)  Vellore
() Arivalur
(4)  Coimbatore
- (8)  Tuticorin

Select the top three districts in Child Development Index.
(A) (1), (2) and (3) only (B) (2), (4) and (5) only
(C) (1), (3) and (4) only (D) (1), (4) and (5) only
(E)  Answer not known

Epangpid pflipa it hisaer smsHd Qards ;

(1)  adeflungund

(2) CGaugnt

(3)  =flwugnt

(1) Camwbysgnt

(5)  snpaben

wﬁmﬁ, amisdl @iilnd paelomlod oaom wss apem i L Lsmas
8,5. CTRALTTTS
(A) (1), (2) wpoid (3) L Pud (B) (2), (4) wppd (5) wr b

(C) (1), (3) whguid (1) L@ (D) (1), (4) opgo (5) weeod
(E) eflerr Qafluciidena I: :I

wmuz-t 38 Y
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. s ¥ L f o Paepiint® 0f
If the Bumple Intereat un iy 31, 004 o mosre than the Simple [nterest 49

Ra. 15000 by Ra, 2 001 N0 years, the pate paroent P Ty
(A) A% (1 107%

() 1% (13) 12.5%

(F)  Answer not knowy

b r e e
5 omaen el eed m. 20000 G £ Homl gaf G &TEL,
c,. lﬂirjr,rj r:‘-;:‘-ﬂ L“ﬂ_‘t’-‘!‘llj‘ #dl Fhl"—.-ﬁ.“*'il lﬁ'l- p} :i‘_'ﬁfj .*;,l-;;.r Pl ~ & -!ﬁw d

Gt ChA BTN,

(A 9.8% (B 10%

(© 124 ) (D) 12.5%

(F) dfer Ugfudiiac

Gx+2y 43 x+z 3
=— and = =
5. Irﬂ.:-ﬁ--‘lj 4 2xr+3z T

Then find x:y:2
(B) 4:15:2

(A) 4:15:4
D) 4:13:

(C) 3:4:7
(E) Answer not known

[

+ 3
G0y B o T F
311,4}'-;:5,,;1 2r+3z 7

vl X1y 2 pETHE

B
)
_J

(A) 4:15:4
(C) 3:4:7
(E) Lo Qpfudeds

n 39 CCSE1P/2024
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67.  Plants that endures best at lower light intensity are called

(A)  Heliophytes

(B)  Halophytes

(C)  Sciophytes ‘
(D)  Sporophytes

(E)  Answer not known

Gonbs gels  Qaflfe  Apoursé  Qeudun  graghsee B

<SHENLD&E UMD,

(A)  efSCureuGadr
(B)  eprCanauc @sd

I@ ﬂGum.‘.muL{E‘:El

(D)  @CurCrrenur Haer
(E) oL @sfudoma

68. Earth's surface reflects back a portion of the solar radiation is

(A) Albedo

(B) Wave

(C) Climate

(D) Meterology

(E) Answer not known

ydleér Cuopuriund gflu sfidédla o uEs Sarpo drdudlssiufag

@aann sepssuubdpg.
| (A) =0lGIT l

B) <o

(C) smafleow

(D) aral@adud

(E) e Gsfludivean

CCSE1P/2024 40
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70.

Which 25¢ CALCEOTY as consider for youth ns per National Youth Policy.
2{]1-1'."

{C} 13 - 35 years (D:‘ 15 - 29 }'E:II‘E
(E) Answer not known

2014-0 =en®@ Gz, Besmgt Qancres@dtug @m“""ﬂl“"ﬁm Tip g
L'Hfﬂﬂl 5,{55'@:1: Gﬁﬂmml_]u@ﬂmﬁ

(A) 13-29 auml Gfey (B) 15— 30 auums Ay
(C) 13-35auwgd Ghe (D) 15— 29 auwgc Ofar |
(E) eflooe Qxfuciidme . -

Which among the following measures is/are taken by Government of
India to combat corruption?

() Direct Benefit Transfer Initiative

(II) E-tendering in public procurements

(IID) Discontinuation of interviews in recruitment of Gmup ‘C’ post
(A) (I) only (B) (1) and (IT) only

(C) (1) and (III) only (D) (N), (IT) and (III) all

(E) Answer not known
eapana  aTHNSHU Cumre.  Génaumd  BLagsesseid Fifu sged
TRESOUC LG eTg/eranal?
()  Crrg wen ufliondpD

() Qung Qaneppasia @ -G i
M) me ‘C’ ugadsara o Getuydaran Gpterarae Hptdus

(A (D be@o (B) () wags (1) we@o

(C) (D) wpgyw (1) wEd @{D. (IT) wagw (I11) .gm;gB
(E) el Qsfuaidead

41 CCSE1P/2024
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(W4 1 2

¢ can be prevented frop

:on of waste
Dust particles from thermal destruction

. '+ by using
eseaping into the air by (B) Bioreactor

EE; ::srir C'E’Imt“li“"ﬁr D) Electrostatic pre{:ipitﬂtﬂr
entilator

(E) Answer not known

syflayiQunac seflan Qauou sfledd@pg =0T

el arhild souUDnEs ;_.@Mmmh

(A)  @aflisnganb

(C) samss s(mellad

(E) e Az fueldme

@m H'ﬂ gg,rma.mm e

(B) euflite @
(D} Aerflana dlagayés |

Match correctly the disasters with their corresponding characteristics :

(a) Volcanic eruption 1. Violent wind

(b) Cyclone 9. Submarine earthquake/landslides
(c) Tsunami 3. Desertification
(d) Drought 4. Magma

(@) M (o (d
(A 4 1 2 3
(B) 3 2 1 4
(C) 3 1 2 4
(D) 2 3 1 4
(E) Answer not known

Gumflaysmer svaupdlean ApmifyeLw vsrysey_dr sflunst Qurmisey ;
(a) eflvew Qayoy 1. s@ewwras st

(b) @omeued 2. sLay HopBasn/ ey
(¢) =fu Guree 3. UTE@@AEILTESRD
(d) eupiéd 4.  unenpé Epiy

@ (M (@ (@

]

(C) 3 1 2
(D) 2 3 1
(E) far Csfluddama

3
(B) 3 2 1 4
4
4

/2024 43 ‘
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The second founder of the Maratha Kingdom was

(A) Huji:::lm | (1) Balaji Bajirao
© Balaji Viswanath (D) Madhavrao
(®) Answer not known

prriiqul Gunnfldn Qam_ray Pyaian.

(A ungynels @unmﬂyﬂ'u"ﬁﬁ”ﬂ-’ |
,:[:';I un:nrrg@] Eﬁfﬂ"aﬂl.’ﬁﬁﬁ ['D} mﬂ;.;:'.;qrrd;

(E) e oz el dana

Arrange chronologically - conquests of Akbar

(1) Kashmir

(2) Kabul

(3) Qandhar -
(4) Ahmednagar

(A) (1), (3), (2. (4)
(B) (2. (1), (3. @)
© (1.3, 1.2
@) @)@, @, @)

(E) Answer not known

sdufar pen Cwiuy Qe flseanerd snacuflaslubgss.

(1) snapdh

(2) amyed

(3)  spgant

(1)  apwspsh

(A) (D), (3). (2, @
® @, m.6.@ ]
€ (1), (3), (4), (2
D) (3. (2. @), D

denat
s Qﬁﬂuﬂ 43 CCSE1P/2024
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e Areunpe the following bodies in their ehronological order of establishm,,

(AY  Sarkarin  Comminsion,  Punchhi  Commission, H“jm""""ﬂ.
Committee, First Administrative Reforms Commission

(B) First  Administrative  Reforms Commission, Hujunmnnn;
Committee, Sarkarin Commission, Punchhi Commission

(C) Rajamannar  Committee,  First  Administrative  Refory,
Commission, Sarkarin Commission, Punchhi Commission

(D) Punchhi Commission, First Administrative Reforms Commissiop

- Rajamannar Committee, Sarkarin Commission

()  Answer not known

Slehaimb amanuitinene, e aenocnSdn e aiflenadiug Guplimeanindsaib,

(A)  atdmnflun .y, el e, nrgosanh @op, apgme e
Fi Bl oomemamru i

g fheuns  Fiafnas  seneu, ongiodtennt  @ap,  srdmnfl
seneerwid, Liendl s enanunh

(C)  pngoemant @y, appds e dngflmas  owenamud,  stdsnfu
0D, LAl o enemnioh

(D) ueh sypeenwib, ppd Pieurs SrsHmis owemenmud, prgpueannt @y

shasnflun e

(E) e Qaflweldaa
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C"nﬁi{!l‘.'r lhlf rll“"l““ing fl (17 ,l"n;”” Hlll‘“khllll

Btatements and relate
a choose the ¢
yojana the Correet answer,

{” The Sﬂhunm "tprun] Mnrln“lv anil

was introduced to reduce M
Infant Mnrtalily Rate

() [t is 100% centrally sponsored

L

3 It 18 100% state sponsored

(A) (1) and (2)

B) (1) and (3)

(C) (2)and(3)

(D) (3)only

(E) Answer not known

@, aflwren

ﬁmmﬂ sqeqn Gungenr Asr iy andfuhsmnd smifld (ola redar

Aeant_enit GaipEsRasaud.
. ; T ma,
(1) wsuton @ooy aflab LHpDd GRS @i 4 phap @enpLipha
ghu@sgiuc P [
(2) 100 sselis waHu osnd HAu s

(3) 100 azcSs wifle oirsnd Hupe

@ (1) wpgib (ED

(B) (1) wppo (3)

(€)  (2) wppd> (3)
D) (3) >

(E) oSer Opfluasioad®
CCSE1P/2024
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Which of the following statements are true about the first five year plag

[l] It was focused on agriculture and irrigation to boost I'nr!ﬂ autput.
{”] It was based on the Harrod-Domar model with few modifications,
(ii) It was followed the Mahalanobis model.

(A) (i) anly
U:E} (1) and (iii) only
(E)  Answer not known

(B) (1) and (ii) only
(D) (ii) and (ii1) only

CED ppnan@s Ae papis upfl Seraumd sppseld gy o anaw?
() sflausnu, efugdieny sflaflés eflawsnud wigd Fturseifld saiang

Qoguamiinc g,

() @Ay ba Lwrdrhemier  gorCin’-Comod  wrdflew  SglueLLrsg

Glanetm_g,.

(1) .2y wgoraCam@en @l Ferupmiio gy,

(A) (1) WL (ib
(C) (i), (i) T (S
(E) cflen Aafwuedma

78. Arrange the chronological order

(1) Mitra Mela

(2)  Anu Shilan Samithi

(3)  Indian Home Rule Society
(4) Hindustan Ghadar

(A) (1) -(2)-(3)-(9)
(€C) (3= (@)-(1)-(2)

(E) Answer not known

Shsan_apean sna auflesuu@sss

(1) Agdy Cuoemn

(2) gy Sad sA4

() @sAw senerm 4 S pah
(4)  afsgevanen aaf

B 1)-©@-@)-q
C) =@ -M)-(
(E) &flan Qaflucdfdma

1P/2024

46

(B) (i), (i) wi @

B W-3)-©@-
D) () - @) -@)-()

(B) ()-@3)-2)-(1)
D) @) -(2)-@)-(q)
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7.

The National Civil Seryicq 1, o

(A)

(B)

(C)

(D)

(E)

March 8

January 7

May 11

April 21

Answer not known

1s observed on

G{,ﬂu_: @lq.mmﬂ ueflwrenrsst Qsmb eTen J@aﬂmau@ﬂg}@.

(A)

(B)

(C)

wnié 8

Emmﬂ T

Gw 11

P gurs 21 |

(E)

e Qsfludded

47
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80.  Match the following :

(1) Temple Entry Authorisation
and Indemnity Act

(b) Temple Authorisation Act
() Self Respect Ma rnages Act

(d) Madras State abolition of Zamindari
System

@ ® @© @
GV

1 2 3 4
(B) 2 3 4 1
(C) 3 4 9 1
D) 2 3 1 4

(E) Answer not known
E@ﬁﬂhu_m_@mg Qurmdzs :

(a) waw Depsy LoD BiS s sk
(b)) @eu Bepas #00_h
(©) aw wiluress Hnwertad s b

(d) Qserevan wrsram A I

@ ® @ (@

A 1 2 3 4
(B) 2 3 4
4 2 1 '
3 1 4 :l
dlea. AsAudomg

oW N

Annadurail
Rajaji

Omandurar

Kumarasamy Raja

HEnemrgieny
g
BLsEgnk
(Swrrsma orgm

v
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Wwho is the poet for ().
verse *Pottruvanr Pottratbum. ol

q
‘ (A Bharathiyar
(ﬂ} Kavimani
(¢) Kannadasan
(D) Vairamuthu
(E) Answer not known
saumpmpiaunt Gurhpl Gb" erdny LnCean Lmgusul wnf?
(A)  umnBurh
(B) &cilwead
| (C) achiamgnacn |
(D) e@euncpss
(E) efleni GApAuddaw
g2, The life line of Thirukkural is reverence for life towards all the living
beings on the earth. This idea was perpetrated because
(A) [t insists that we should think of the suffering of others as our 0Wn
(B) It insists that we not do to others what we think is bad
(C) It insists that we never do any harm to others even if we think 1ts
_ very small
(D) All the above
(E) Answer not known
: 5 Gumpmsd (Reverence for life)
Eﬁﬁ“—’:—;ﬁ? Lﬁﬁﬂ;"qif;f; :E;mef{;fﬂ @&ﬂiﬁgmi Gug:afirrrj'nmh'l(
(A) 9o e@iser UBD garupens F1 gonuona sed fas e ypEE®
B) g erengl AT sflipap wHpeIs@ASES QeiwuindBEs
(C) Aflw S0 gnGar qrenpl crgienf] wBASD arCungib £e0 Qsuund s
@ Clomser T
(E) efHlen Q;.Iﬂu.:sﬁfﬂ-lﬂ“
49 CCSEIP/2021
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83.

84.

Find oyt whose statement is this?

L'l]it"..' A bird that flies to a tree bearing fruit, T went to the broad palac,,
Karikal's court,

(A)  Kapilar

(B)  Mudatha makanniyar
(C) Nedumkilliyar

(D)  Alawanthar

(E)  Answer not known

WTG@LW QenpQprt creénuemss sflurs sfEHEs.

“Uptisener wyfaih Qanan@erer wrismers shflgnd upoauss UDHS Qu(mey
Cune srer Weaub Quily aflsraeie SirEnoamer smakEs QeenGoen”

(A)  sQan

(B) | CpLganndsamenfluny I
(C) Qeprdaaiunt

{D} <A ETEU S M

(E) efleor Qsfuefidaa

Which Pathupattu literature is also called as “Nenjatrupadai"?

(A) I{uruntﬁngai

(B) Mullaipaattu

(C) Sirupanaatrupadai

(D) Thirumurugaatrupadai
(E) Answer not known

‘Apgrenppiive’ crargud Caup Quuwi Aare ugLun’ @ BN 17

(A) Ensdsras

B) @o@muum® j

(C) Smunemrmimiuenc

D) SBApmETDRILUML
k6 L Qzflusiovma

50
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The total number of

B A 17 Fiver basins in Tamil Nadu
(y 19 (B) 18
(E) A_nswer not knowp (D) 16
G@W‘&m}_ 7 “j BODIG e sefan F}T;;m?;mﬁ
- (D) 16

(B) eflani QzMuchdang

g6. Match the fﬂ“ﬁ‘-‘r’ing .
(a) Bauxite
(h) Gypsum
(c) Iron
(d) Limestone

(@) () (o)
@2 4 1
@1 2 3
©C 2 4 3

D) 2 1 3
(E) Answer not known

sflurs Qummsgs

Salem
Servaroy hills
Coimbatore
Tiruchirappalli

(a) urdensl 1. Gsaubd
(b) e 2, Csieuymuen e
() @mby 3. QGamudbuysgnd
(d) seremmbyssd _ 4, Hmsfymiueraf
@ G ©@ @
L@ 2 4 1 I )
(B) 1 2 3 |
C€) 2 4 3 1
(D) 2 1 3 1

() el Qeflucda®

=1
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B7. Identify th emergeney care scheme 2021 introduced in Tamil Nadu

(A)  Makkalai Thedi Maruthuvam Scheme 2021
(B)  Nammai Kakkum 48 Scheme 2021

{C}- Athikadavu Avinashi Scheme 2021

(D)  Accident Relief Scheme 2021

(E) Answer not known

) e .
slgasdd gaksulL sasmamg ursEtoy Gerdramsaw 2021 s wnes

ETETE.

(A)  césaas Gz coszan 00 e 2021

[Emmm ar&En 4B A0 5 EDED

(C) <fsia sfxrd Hi i 2021

(D) Sugg Pamrarsd L 2021

(E) dar CsfiulSdae

a2 | b

(¥ Scanned with OKEN Scanner



s 1)
Q

Aﬁﬁﬂ'rliun I"ﬂ‘]

eason [R]

(A)
(B)

Peri
Ht-nyﬁr left the f:rmi‘:ﬁ.ﬂ"i Party and started Self
L8 ey Movement in 1925.

I:'-'l'j]r'ﬁr visited a schoal of Gurukulam style run at
""h'-'l'f'!nrnar]--r.-i, he noticed the segregation of
:\fﬂl-limhmin_q students from the Brahmins by
providing drinking water and food in separate
Places. He moved a resolution for reservation in
BEOVernment serviees for non-Brahmins. But this
was not allowed.

[A] 1s true, [R] is false

th |A] and [R] are true, but [R] is not the correct en:plnnatiuﬂ
'I'Jf [r”l.]

(C)
(D)

[A] is false, [R] is true
Both [A] and [R] are true and [R] is the correct explanation
ﬂf [.riL]

(E) Answer not known
SmAE [A] ¢ Quilwnt sradreé sl flan ALE QaedGull, 1925- 235
ssan() susfutes Gussiass Azmndanmn.
Tt QsrenonCscddd Eosa Seulld pecduin 680
e [R] pérefésn Qufiur eflguid Qelsrf, iE Elr;rmiﬁrjr
wramatad  wpmo  Grroemrass L::rss:'-a.l*ra_rr.g&.gs
EEED s, pemeupifild Sl ;aﬂg_u;.;:ﬁ{]?
@@u:mié S, ZiTELU _ pexflasfd
GrroarraarsatsGaEs sl gusid ayns nGangT
gn;smng puay Gaipt. Lemd Samis Sged
L:J_-u;au:.:u_g:.
(A) [A] &7, [R] oo g2 aree
(B) {A} opgo [R] GrarGe o 2&me [R] [A] epaner sfiurer oer
. RELE, i
et
(C} [-"1-] Feult [R] oG s — [51 fisrar [Rl sHwmar Slardsh
D) [A] wppe [R] @ree@o #f 052
(E) da. csfiudaa

2024
53 oI
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. —_ . wcreases in ny
89, Certain type of bacteria grows 5% in first hour and decr mb,

: e 10% i ird hour. Initig
by 12% in sccond hour and grows 10% In thir al

20000 bacteria were present. Find the number of bacteria after 3 houry
(A) 20328 (B) 25872
(C) 10164 (D) 12936

(E)  Answer not known

% cueni&d u

@O wwawnem urdefur poras e well Gprsfd

Brdn ey wedfl Crppha 12% eeniédls @eandlud, gpepradl werfl Guogg

0% aetsflyn scoldlog. Qaniésgld g carafldens 20000 e

Blmpsn ealld apery wedl CrradhE Gms s gamefllEmamud &rens.
|\ (A) EDSEBJ (B) 25872

(C) 10164 (D) 12936

(E) eflen Qafluciidema

90. Find the amount to be received after 2 years 6 months at the rate ¢
5% p.a, of Simple Interest on a sum Rs, 6,400

(A) 800, | (B) 7,200 |
(C) 640 (D) 7,040

(E) Answer not known

en@urdifing 5% gefl ey dsgdd 2 men@adr 6 s
. 6,400 cllamrd Qupau@o Cgrens ereiner?

(A) 800 (B) 7,200

(C) 640 (D) 7,040

(E) o Qsflucldme

1P/2024 54 1
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e work done i ;
ql. Th T In moving » pPositive charee : :
(@ Finite arge on an equipotential surface js
(i) Positive
(iii) Negative

(iv) Zero

(A) (1) and (i) only

(B) (1v) only

(C) (1) and (iii) only

(D) (1) only

(E) Answer not known
el mipt :

Eimmuﬂ!mqltﬁgﬁﬁ:

(i) eeTumdaiue AU

(i) CoprEd Qanem_g

(iii) adiEs Qanerg

(iv) sflwumab

(A) (1) wppd (i) weEd

[ (B) (@iv) oo |

(C) (1) wpmb (1i1) LLED

(D) (1) v @b

(E) efler Qflwaidama

LTOGlen 1Ba o0 Cor Aagal geos patdss QriuCuBD

92. The approach of learning and reasoning from “general concepts to
detailed faces” is called
(A) Inductive Learning
(C) Logical Learning
(E) Answer not known

(B) Deductive Learning
(D) Affirmative Learning

Qung;mrrméa E@ﬁ,@maﬁﬂﬂ@.&@ . &

lflpenpurang Heamn . |
(&) gram@o sopd (B) EULf,rﬁ'mb &mqum
(C) s F@uﬁ?mnmfﬁ FHD (D) o Lsnunimed SHD
(E) e Qpflucioae

1§ 55
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iR}

Mateh the following type :

() SLp 1. Deep Learning

() GAI 9 National Centre on Al

() DI, 3. Statistical Language Processing
() NCAI 4.  Generative Artificial Intelligence

) () (© (@
(A) 1 q 3 2

m 3 4 9 1
C) 2 q 1 g
(D) 3 4 1 2

(E)  Answer not known

Aénaumeenaipen Qummapy :

(1) e a0 @ L aupps sppd '
M Ham 2. Al go Csflw eowb

(€©) i ead 3. yerell aflaug Gumfl Qeuarian

(d) aeh 8l g g 1L emansgn Qsupas Bienemfla

@ M @ (@
A1 4 3
B 3 4 2
© 2 4 1 g3

™3 4 1 3]

(E) clen QpfAueflivme

56
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i

gb.

(oo e Vb ey, Mmong typo -

(1)
(&)
()
i
()
(')
(1)

Hydvogen Alternutive enerpy

'I-::I:IT::-I :1u||~l'uv - From Non-degradahle waste
s Witer henting

Coeot hermnl PHergy - Wind speeved and direction
(1) nnd G nre corpect (3) (1) and (£) are correct
(22) nndd (3) tire eoppect (D)) (3) und (4) are correct

Answer not known

[
pfl e wenailamear G s A, Gaday Cadin, ;

(1)
(2)
(1)
(4)
(/
(C)
(I5)

U] I -

IRy LTSN - nda iy, o flogaeficlon sy QupuuGdpg
it i o e - fir i mha g
Pl auicn o hmd - angflen Geumb oppd s

() (1) whmb (2) aflureng

(1) ingbmnns (3) aflusrearyy
(1) () oy (1) sflunas -|

hlconl Ug,rﬂumf:'labmm

The abundant growth of algae in water reservoirs 1s due to

(A)
(B)
(C)
(D)
(E)

frfleasefld muiflglomen

Futrophication

Thermal pollution

Bio magnifieation

Radioactive pollution

Answer not known

(2 Ga) Lrd) et sl aramu@espana smyemrib

(A)  up CynGGsayen |
(B)  Qeuctiu wna

(C) @ o OAUEBASD
(D)  adflwss wné

(E)

dlenL Qpfluald@®
CCSE1P/2024
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~
96, Match the following :
(2) Abolition of Jiziva L AD. 15
(1) Abolition of Pilgrimage tax 2. AD. 154,
(¢) Abolition of enslaving war prisoners 3. ’\-D-lﬁﬁg
(d) Fall of Bairam Khan 1. AD. 156
(@ () (@ ()
(A) 2 1 3 4
(B) 4 1 3 2
© 1 2 3 4
(D) 3 4 2 1
(E) Answer not known
Qurrsms :
(a) Pellurea ofisd _ 1. 4.9 1563
{h) Llﬁﬂ,ﬁll vwer auflanw Qkﬂﬁﬁ.ﬁ] . &9 1564
(€) Cunia wada@er S awsers 3. 8.9 1562
oatdoisen afissd
(d) eugd srer s
ane wipes 4. 4.9 1560
@ ) (o (d)
€y 1 2 3 4
(D) 3 4 9 1
(E} EJE]'EEH_ Qéﬂ’-l-lﬂi}mm
CCSE1P/2024 !
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I"uul the mmeareect pairy gy e (ollawing »

0 .
(1) lt: ! ' = Information and Communication Technology
(£) 'H:"I.H' o h:"“"”"l dudicin] Data Governanee
(1) Cl5 = Cane Informm lun Saftware
I’,” ﬁl.”“ - ﬁlhl'rﬂlltl" ““-.‘“".- "I.rlnlﬁﬂﬂl
(A) (D) and (3 only (B) (2) and (3) only
() () and (4) only (1)) (4) and (1) only
(1) Answer not known
£yt b, saumret B e any, aciei_fla,
[]} ”:T — Adeds I:J#,rn_ﬁq Q;__rr}f,li.m._'_um
(2) NJ _” G - Gghlu Yhsmen aney flransi
() CIS — QIAWS, AsGud ";.de!."‘:;urffﬁ#!
1) ADR  — gappmessana wipys fre
(A) (1) whpd (3) wi b (B) (2) capw (3) m@
(C)  (2) whgb (4) wiGib (D) (4) wpmb (1) LLGD
(E) oflen Qafludiidama
g4, The list system of the distribution of Legislative powers oniginated in India by

(A)  Minto-Morley Act, 1909

(B) Montagu-Chelmsford Act, 1919

(C) Government of India Act, 1935

(D) The India’s Independent Act, 1947

()  Answer not known

Gipdu o Buwppud flanglisaa udlrgsdliughare ulguwd S@ndy e
Bits ol s A iy v meunangy

(A) Aenn-wnhel Srflsas sl ib, 1909
lji:' i ade (5 _r_a!}-t‘;].qmdut}urrfri #Lib, IHB

() @ihdius cnanmind alLib, N

() @Al asding sLb. 1947

(E)  clen Qg fluiciichens)

CCSE1P/2024
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y

9. Consider the following statements.

(1) Preamble is a part of the Constitution

(1) Preamble can be amended

(i) The provisions of the preamble are not enforceql,. in coypy
(iv)  The preamble is a source of power 9

Choose the correct answer

(A) (1), Gi) and (1) are correct  (B) 'f?). (i1) and (jv
(C) (i), (i11) and (iv) are correct (D) (i) and (ii) are
(E) Answer not known

&gpm-.._ wisdlukaae sauafldaaybd ;

() gpsawr gspu mrsecode g uEd 2umb

(1) paaant dmasluLnd

M) wsaanda smpoucamssb ghunpaer 548 verpiisa epaLh Qﬂ-liug

) 8re corpy,
COrrect

 Ggury
V) ety sfamsdan oo 2450900 e
sflwmen cHlenanwg Cans@afisayd

IM (1), (1) wpp (i) 57 | (B) €0), (i1) whmw (iv) &f

V1), 0n) wpms (iv) af (D) (i) wpps (i) 54
(E) e Csfluclidene

100. The following scheme is implemented with an objective of redyc
maternal and neo-natal mortality by promoting institutional delive
amongst the poor pregnant women?

(A)  Pradhan Mantri Swasthya Suraksha Yojana
(B) National Urban Health Mission

(C) Janani Suraksha Yojana
(D) Swachh Bharat Mission

(E) Answer not known

Garaunn A nsdfie o : : :

! 2 Slafly Quarseiie Cu Apee fiul
Elgseugeng whisells <S4Sl @i L [ herg B0
A g o S ﬂ&m@u@%;gp;ﬁnm wppd dpps Epias 2
(A) “rgnen wiAA aeudly) s

Ji7 ST&an Gunmern
(B) Gsilu matum &

| (C)  genedl sysgn Gurgenn I

T EEDUT Budan
(E) dha Qsfluctidag
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01, Some of the indices launched ¥ NITI Aavog a

i)  Composite Wat ter Management Index
(1) School Educarion Quality Index
(i) Urban Developmene Index

(A) () only
(C) (1) and (11) only
(E) Answer not known

NITI 500rt s5paii0abe bo @bipss swe
() &0 % Ciarara. 535

(i) v&d® saed 25 =055

(i) ps7oz essd w430

(A) (1) = '.'_:'E;j

(B) (1) and (13) only
(D) (1) and (1i1) only

(B) (i) c2ze ) ooy
(D) @) 22ge (10) oo

102. In the study conducted by Dandekar and Rath regarding poverty line,

which of the following statement is true?

(A) 40 percent rural and 30 percent urban
(B) 30 percent rural and 40 percent urban
(C) 40 percent rural and 30 percent urban
(D) 50 percent rural and 40 percent urban
(E) Answer not known

srenCLsr ipd g @A0df: apacs Gl

= sfwmanz
(A) a0 e;aﬁ;,ﬂ Srrod whod 50 sgadsd pard
(B) 30558z Ayrod nppb 408 szSz0 pard
[ (C) 4o maﬁ;m Symobd wHQD 30 SFLED FATD |
D) 50 sgciss Armod wHPD 40 S5SE3 25T

(E) &aL Fzfludass

say. dysam_elpy ©5

CCSE1P2024
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193. Match the following :

List - | List - II
(Author) (Works)
(@) Bankimichandra 1. Shatranj Ke Khilari
() Dinabandhu Mitra 2. Devi Chaudharani
(©) Premchand 3. Nil Darpan
@ @M ©
@2 1 3
(B)y 3 1- 2
(C) 2 3 1
D 3 2 1
(E) Answer not known
Qummsss :
UL ig s — I uCigud — I
(mnendlfwe) (uenLiyser)
(2) urdwspdym L. ss0¢6 Gs Aandl
(b) Bevups Bgon 2. Csefl Qsangnynest
(©) @Coosps 3. o siuen
(@ ® (o
(a) 2 1 3
B 3 1 9
(© 2 3 1]
M 3 2

(E) el Qsfludidene,

.",:r
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104. Choose the right matches among the following :

~ Madura G '
(1) dural Gandhi - N.M. Subburaman

(2) Thatchina Gandhi - Rajaji
(3) Vidyalaya lyya - Kamaraj
(4) Father of Tamilnady Library
. Movement - A, Ramasamy
(A) (1) and (3) are correct (B) (1) and (2) are correct
(C) (2)and (3) are correct (D) (3) and (1) are correct

(E) Answer not known

Geramevarapmen sflwnmar @Uﬂ@ﬁﬁ,mﬁ. (R RTAPY

(1) wgeryangs - - N.M. suyymoen
(2) aldlenn anid - Bugigd

(3) edFwurawT sudur - EMLIH

(4)  gdpsr® pras @uisider stas — AL gmosndl

(A) (1) (3) D & @3} (o (2) o ,;B
(C) (2) 5 (3) e D) (3) &> (4) > &f

(E) feu Qsfiudoma

105. Rao Bahadur Sir A.T. Pannirselvam was a leader, who
< previously served in the Governor Erskine's Executive council.

(A) Swarajva Party (B) Congress Party
(C) Justice Party (D) Samajwadi Party
(E) Answer not known

genasaugna [E)GHETT. fshE
npeSld ueflurhflermi.

Trel ussat & 5. us‘z:a‘?l‘rﬂmgfs.b
ety syessh etcvdaflar dianss &
(B) smudlyen a4

(A)  swmmgws sl A
(D) sorgganf a8

| (C) g8zscd |
(E) oL Qafludos
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. Wincs, Discerning unspoken .

- tated in these Chapters by Thiruvallyy,,»
ce”, sti _

knowing the audien

(1) About Minister's hehaviour
(2)  Minister's advised to King
(3) How a king should treat another King

(4) Related Psychology I deas

(A) (1) and (3) only
(B)  (2) and (4) only
* (C) (3 only
(D) (1), (2) and (4) only
(E) Answer not known

QETERt £ entdmae urear? ‘
(1) sewssfer ptas Lpdus

(2) =evsst ceaass oCorsaa e

(3)  wéea Gp LaetaGan® gty Gsrérer Caraimaw ey upfugy

(4) eceordud sppmasa fapiss

(A) (1) wppa (3) g

(B)  (2) vpgo (4) vepe

©€) B)uips

i (D) (1), (2) epzs (4) ur_@D

daL GsfluSaaa
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107. Which work refers to the war at ‘Kazhumalam™

(A)  Rurunthogai (%) Agananooru

(C) Natrinai (D) Paripadal
(E) Answer not known

‘wuguad’ wenn Buss Gurt Bapenan ey

(A)  mtlarens L (B) rﬁﬁ,‘ﬁ”ﬂ."@
(C)  podleen (DY ufurea
(E)  dlenL Qaflucldzna

108. Malaivulae pirapinum malaiku

avaitham en seiyum
~ In which book does these lines oceur?

(A)  Kurunthogai

(B Apganancoru

(C) Kalithogai
(D) Na trinai

(E) Answer not known

“wenai|Gar Gpl gy waad

SaaumTh erell @add’”
- gy urid aflad Gob Gupp D @F7

(A) EpEQsras
(B)  om I T
ITJ} sl ‘.y,rrmm:l
(D) phflaen
(E)  &an. Qafuiahdena
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" . "o I Penn' Scheme ensyre
109. Tamil Nadu Government's 'Pudhumai Penn’ Scheme ENEUrey

(A)  Women Participation in Politics

(B)  Higher Education for Women

(C) Increased Women Employment Opportunities
(D) Marriage Assistance Scheme

(E)  Answer not known

S pe arfen ‘Ugienw Quds’ AL awg e gfufisdng
(A) A8 el QuiaimaePen Lt (&,

@ Qudnsanss ot adh j

(€) Quensersara Carmauani e sfaubizsd
D) dwwar e g6l e b
(E) o Qsfudama

;
110. Compared to the year 2017 — 2018 Tamil

Nadu in terms of health inde
falls on the category of

in the 34 round of 2018 - 2019

(A) TImproved rank
(B) Retained rank
(C) Deteriorated rank

(D) Nepative incremental performance
(E)  Answer not known

2017 - 2018 @O

. @ua0n Cun 2018 - 201945
FENENTE EHUS 1 e N ﬁ@@ﬁl 019-51
(A)

Gwmu@ﬁgﬁug‘_ #reuflens
(B) stamass Brauflens

@) Shsenmar afla Mmﬂmj
(D)

aperTTes 8404
B — Sflweus Corzzs-dzs

=iBa i n “éltwenp Qs f)men
(E) eflen Gﬁﬁluﬂﬁlmmw
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Dr. pharmambal Ammaiyar
- {'Hll'f.!“l‘}' of women?

/

Ninaivu Assistance was given to which

() Poor Women Marriage Financi
(B) Nutrition Food for Women

al Assistance

(C) Widow Remarriage Financial Assistance Scheme
D) Marriage Assistance for Orphan girls
(F) Answer not known

_mhuit. shomburdt sibawunt Daae epdl o wasl CQUSTSGAS
msp-iﬂl!nl_'.lu g ?

(A) e Quenadr Hmiven o gefly Asras

(B) Quanma@pbsnar o Lbsks G@punioL f46

@ cilpmes wpemD e gailspras :I

(D) S ETEIDD Cueanser dmoend Hsrms

(E) eenL @sfluchldane

percentage of economic growth increased at

112. Post Covid-18
constant price in TN.

(A) 11%
(B) &%
(C) 6%
(D) 5%

(E) Answer not known

. 19-is 90G ﬁﬂ@'@m'_qsh QummenaET cuertsdl flepawmen Hlanauiid
Gamefil_ -Er_@! Pt i+ e o

(A) 11%
[ (@) 8% |
(C) 6%
(D) 5%
(E) oflan. Qgfluchi®o®
CCSE1P/2024
- [Turn over

G Scanned with OKEN Scanner



‘ : ar life period :
115, Mateh the following reformist with their el

58-1962
(1) Rujn Ram Mohan Roy 1. 18D

1842-1901

(h) Jotiba 'hule .7
‘ 9R.1890
() M.CG, Ranade a9 1828-1
2.1833
(d) D.K. Karve 4. 1772 183

() () © (D
(A) 1 2 g el
(B) 1 2 | 3
(C) 4 J 2 1
() 1 3 2 4

(E) Answer not known

(Qeanaumd Srdmppandama seutaellen ampprenien Qunmiss :

(a) ynggr gnid Ciomasn gmi 1. 1858-1962

(h) Cgrfur yCe 9. 1842-1901

(c) el penGL 3. 1828-1890

(d) g.Cs. sniCe 4. 1772-1833
(@ ® & (@@

(A) 1 2 3 4

(B) 1 2 4 3

4 3 32 ]

(D) 1 3 2 4

(E) oL Gsfucidams

E1P/2024 -
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The aresd of circle mereased by

11' B ﬂﬁ S‘I-Tm. lf s miilﬂi 1% Iﬁffi'ﬂ:h,_‘d h:;
1 e Find the area of new ciple.
- .
(V) - ~ 10 o L
i
2 p 1 l] .
() E ~ o Lss

i
(F) Answer not known
aciAfe o1d 1 Qe afsfass Cury acigder uriy 66 sg7 S8l
osfsNadrg. UAw el gl Lrly srars,

- .
(.""L} —X 10 '[_B}
i

[:m 211’ j WIENEY
: i

() Seu Qsfludfoaa -

e
=
%

115. The population of a town 1s increasing at the rate of 6% per annum. It
was 238765 in the year 2018. Find the population of the year 2020.

=]

26 (B) 268276

(A) 286
2500 (D) 286722

{C) 21

(E) Answer not known

Qsres HRFLS 6% ofsfsdog 2018 &d sl

o @ wasE : _
g 202001d Lamg e LSS LFTEEFLS

wasdr Qzmens 238765 &5 QEEsS-

EnaE,
(A) 286726 E[m 268276 j
(Cy 212500 (D) 286722

(E) e Qﬁrﬁmsﬁid}ﬂ?a}

69 CCSE1P/2024
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116. The causative organism of Whooping Cough

(A) Bordetella pertussis (B) Diphtheria antitoxin

(C) Streptococeal pneumonia (D) Salmonella paratvphi

(E)  Answer not known

sA@aundr @muma o meaundsnb Cami And

[ @A) unheQaer Quic@ellss | (B) wiffur sergrider

-

(C) @QLuCLnsnssd AuGuoradur (D) sraCuor@ardar urra S

(E) oL Qsfud@daw

117. The major practice involved in Rote learning is learning by
(A) In-depth subject (B) Concepts
(C) Repetition (D) Higher order thinking

(E) Answer not known

Qunmer 2 emymod shpdld widu peoLgpopurs @Aouugy ——— =2zé
G-
(A) uvniges eyowns (B) srzzsae

I:(C) Seio :l (D) 2wr SuwiE fisaa

(E) e Qsfludldema
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e e e e |

115 {_*h[m;-‘,[‘ T.hﬂ' wrong mﬂlt‘h :

Kapil Kapoor = 13
(1) Literatyp,. and Education

@) Deepak Dhar =~ Science and Engineering

(3) Lakshman Singh -

Literature
(4) Vadivel Gopal - Misic
(A) (1) and (4) are incorrect

@) (3) and (4) are incorrect

(C) (1) and (2) are incorrect

(D) (2) and (3) are incorrect

(E) Answer not known

geupren @ enemranini sar_fs

(1) 89 syt —  Besdugd. sdSud

@) Bus gt -

(3) mim.‘qu..::-shé'l@! - Reoidud-
(4) euCad Camumd — BoF.

(A) (1) wogpubd (4) L@ gaprEy

(®) (3) vopo (4) 0B s8]
(C) (1) upmb (2) Lo seupTEE

D) (2) wpgo (3) v s
(E) efen Ggrﬂmsﬂmmm
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- : . L shri awarde,
119. Find out the incorreet statement about 2024 Padma rdeq,

Dr. Narayan Chakrahorty,
(A)  Heis from West Bengal

(B)  He significantly contributed to the field ¢

and saflety
(C) His research primarily focuses on remediation and treatment of

of environmental healiy

arsenic poisoning

(D) He had been conferred Padmashri Award (2024) in the field of
Medicine

(E)  Answer not known

2024 v wwengparar gyl Ams Qupp ap@anau. BT saqunsdl utdu
gaupnen snfhenm e ([Hillgsma)b.

(A)  =eur CubheE earksrmiamss Carpgalt
EUJ Dol EOMEGPD SETETRD WHMD UTEETUUS Sepuld @,rr‘ﬂirﬂr_;ﬁ&.a,j
Lkis et gayerarmt '
(C) wams wmpishl syisalls pésspaeolda die wppd Hisemsou
(psereninwnsd QeranL g
(D) sieumbe 2024 b emgpsrer usoyd dms wErszus Hopdd
QupRIELILCL B

(E) eferr Qaflwedama

120. In which hills of Mehalaya, ‘Geological Survey of India’ (GSI), discovered
ancient fossils?
(A) South Garo hills (B) East Khasi hills
(C) West Khasi hills (D) Jaintia hills
(E) Answer not known

Esdw  LeluJuid ea,tim.i ewwd, Gosrawndld aps veadd vpawunE
LengLigeugengs e Hibss) 7 '

|fﬁl} Qahes Calpn mmm@ (B) Awés s vavsdr
(C) Gupes and namase (D) engéingqun e

(E) oflen. Qaflucfdene
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Dakhni literature was patropigeq by the Quth Shahi Sultans of

(B) Bijapur
(D) Bidar

(A (iolkonda
() Ahmednagay
(E) Answer not known

;_qn!uﬂﬂﬂ @oddlud @s aynd s8N

& msflaslucLg

o

(A) Gandu@mnnm_d B g
(C) &% pai D) Gurt
(F) oL efludoame

Choose the correct answer :

Assertion [A] :  DBahman Shah attempted to exact an annual trbute
from the State of Warrangal, the Reddi Kingdoms
Rajamundry and Kondaveedu.

Reason [R] : This led to frequent wars.

(A) [A] is correct [R] is not the correct explanation of [A]
(B) [A] is correct [R] is wrong

(C) [A] and [R] are wrong

(D) [A] is correct, [R] is the correct explanation of [A]
(E) Answer not known

sflunen elaLaug CarpEs :

‘ 2 o et BaE sMunss sneEsd Gprfsg enTisd wipd G';_r:
= [A]: ;?:m?m gregeop A, Qansa‘ul_c:ﬁ@_.&ﬁum S fss0 Gsgpzs
___%ﬂ*g@{}ﬁny ap Qegusflagsnt.

smremb [R] : @& Siuéey Guniaer ghu anfl uEAEs-

L

(A smim [A] afl, srpemd [R] s [A] Sp sfluren Eﬁlmﬁimmgﬂ

(B) ampm [A] &f; snyemd [R] geug.
(C)  sappy [A]l-au sryend [R]- seip |
(D)  spm [A] &f, sryamd (R], s [Al-e0 sflwnren flerés

(E) el Qsflwsiideas

wmEb
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123. Match the following :

Article Subject
() 124C 1. Seat of Supreme Court
(h) 125 2. Power of Parliament to make law
(€) 126 3. Salaries
(d) 130 4. Appointment of Acting Chief Justice

@ M @© (@
(A) 2 3 4 1
(B) 1 4 3 2
(C) 2 1 3 4
(D) 4 3 2 1

(E) Answer not known

Qummggs
clild) Qumer
(a) 124 C 1. eés fduepsfear @mudin
(b) 125 2. promgpoeapsfler sl Qupmd sfsmmo
(c) 126 3. ok
(d) 130 4. Qecssta goaaw FHud dwuwenh

(@) () ( (@

A 2 3 4 1
@1 4 3 2
(@2 1 3 4 ]
D4 3 2 .1

(E) e Gsfluddea
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I"“””W it ¢ jme whivkhi ol bt

» .p" 'f"’
[l Comabitatjon?

A denl winhy the bnew steetind
(M Wesnvinnnda Bhirnty oy e o f Vacrnln, V1%

(1 Minervie Malls ve Uy o Lidow, 199

() AWK Wy s Vi o Inidin, iy

(1y  Cilidnoth va Beare of Franguls, 1401

(b Answer ned known

ﬁm'{“'” YDA NI e 1 a ( adnteli gy (g Tl R
Al | ﬂ‘.lﬂ.

(A)  Gansinmpg inndi sefin Cagen wafisri VT3
(”_] et figat (fdgd, U:’.I“ Do l;’l.i'r'f,l sin )ni)
() s Ga gnds o it yndins spaedinis 1982

(1) Ganwagnd, st vk wrfiech. 1947 j
(1)) elien Cg i li Graies

126, The  Firnst Amendment  incorparated Article in the

Constitution of Indiaan 1951,

(A)  Artiele 15(4)

(1) Article 15(2)

() Artiele 15(3)

() Article 15(1)

()  Answer not knewn

& * I .1 7T T

)i AnaInLY Hnpas — 1951 — rpans Bisa s Bl A —%

mne

(13) i 15(2)

(C) g 1503)

(1) g 15(1)

(E) «fHan ’:Jp;"‘-‘":"-@“f“‘"
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126. Match the following type :

( 1 P
A) Fiscal Policy L. Issue of Currency Notes

(h) Mnm-tﬂr}' Policy 2,

(c) RBI 3.

Rationing of Credit
Cash Reserve Ratio

(d) Credit Control 4. Taxation

@ ® (9 (d)
(A) 4 3 1

(B) 3 4 1
(C) 2 1 3 4
(D) 1

[ 8

2

b

4 3

(E) Answer not known

Ce&ramd amsowun Qurmiss -

(a) D43 Qsnaras L. prevwg srasefan Qauetlu§(
(b) Lemd@ua Qsretens 2. '

(¢) RBI

sLar BflCwnan
d.  Qerés @iy efldlz
(d) s en ELQUUrR 4, «fl oy

@ ® @© @

@}4 3 1 zj

(B) 3 4 1 9
(C) 2 1 3 4
M) 1 2 4 3

(E) e Qsfludtfosa
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12

. Wwhich one of the
I

gocio-Religious Movement in, South India?

(A)

(B)

(C)

(D)

(E)

‘ﬁmm@mmmmﬁm Qzen GpHurds s208 0 Gubahs §F (AR

Prarthana Sama;j
Arya Samaj
Theosophical Society
Brahma Samaj

Answer not known

HepdauuiL g gl

(A)

(B)

Agrigzenn SOTRD

ol SOTHD

(C)

Qrbwgnrean e |

(D)

(E)

Qi sLIZD

eBleni_ Gﬁﬁuﬁwmm

71

following -
8 Was proved w be an et ant A2 AR LI 10
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128, Which of the following isfare wrongly paired?

(1) Self Respect conference led by Annadurai  ~ Thuraiyur
(2)  Bharathidasan entitled Annadurai

as Arignar n Chennai
(3 Justice Party was named as

Dravida Kazhagam - Erode
(4)  Black Shirt Resolution ~  Salem
(A)  (2) and (3) (B) (3) and (4)
(C) (4) and (2) (D) (3) and (1)
(E)  Answer not known
Aeéraumuemania geupmer AUmmEHD eTE?
(1) Slananrgans sooawilld sw vflwrmg orpr@ — gopuLh
(2) unyélsraen S ermgenTew 2|fley’ aen

UL LD @ guwigy -  Qseenan
(3) bfaa £ Hyrefl &p&D e Quui

GLLUul g - mGrr@E
(4)  smuy sla Srwnanh - )
(A)  (2) wppo (3 [ B) (3) wppo (4) )
©) (@) wogn (2) (D) (3) wpmw (1)

(E) e Qsflucdddma

139. Who was the Chairman of the first Self Respect Conference in 1929

(A) E.V.R. Periyar (B) Sathyamoorthy
(C) W.P.A. Soundarapandian (D) Ramasamy Raja
(E) Answer not known

1929¢ per Qupp pae swofurss \DMET g €1 Senaveuit wimf?

(A)  m.Qau.gr. Qulwmi (B) ssweptss

| (C) W.P.A. Qsapdlyunaimgwen (D) @mosndAl ur L
(E) ofenr Qafluelidama

CCSE1P/2024 8
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my 18 Thiruk ; .
130. Why kural ‘"”"'I' “hl}'.’lt Pothumarmi® (Universal Book ol

principles)?
(A) It is translated in mnny ]nngunﬂnu
(B) Many have written paraphrage

{G:l It was com pl’]ﬂ-l!d. 2000 years ngo

(D) It has principles common for all, irrespective of enuntry, religion

and Lime

(E) Answer not known

Prb@ndr ‘e s Quugioep’ aen H@psaiULA Grj@ib wng?
(A) Lo Qunfsafd Qurfl QuutssiucGdrerg)

(B) wetr ceng erqpd eenarent

(C) Gy mlyd anBa@aSE QO Gandrflug

[ D) gty picsmbed. souppached. srapBbed Tunosai

(B) A Qzfluciiden
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131, The attitude of Rama to accept joy and sorrows equally 15 compared tq a
Mower by Knmban, Which is the flower?
(A)  Jasmine
(B) Lotus
(C) Laly
(D Mullai
(E)  Answer not known

Qe gEuges gaprs gpps Qaraend @rmualar wenl ukga@s iy
WRmAES SBUT Gl Qslidlgmh 7

(A wodles

| (B)  groag |
(C)  ableed
(D) woeo

(E) e Qefluefdma

132, Which is the excellent description of “Maruthanilam Nanda Villakam
based on Chitrilakkiyam?

(A) Ula

(B) Palla

(C) Barani

(D) Pillai Tamil

(E) Answer not known

“nmsfle pian eardan” qar Apt@ssn Qupn ApfHlasdy cas

(A) oar
| () - USTiE, I
(C) uje

(D) Sevenerg sl
() dSer Qpfudfdma
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" which of the following Statementg qp
- e

preakfast Scheme? true about the Chief Minister's

‘his scheme -
(1) Thi me has been started by the Tamil Nadu state

t will be i smoented :
(2) I mplemented in all the Higher Secondary School students
in the state of Tam;i) Naduy !

(3) This scheme is the firgt of its kind in Tamil Nadu

Choose the correct answor from the options given below :
(a) (1) and (2) only

(B) (2) and (3) only

(C) (1) and (3) only

(D) (1), (2) and (3)

(E) Answer not known

wpewewossilan srma ceara Hligesn upfl Qaumbd Ssifldassmad

seueilujriser.

(1) @sss AL slpsssnd Qan_msoulLg

2) @5 slpssdd seaer seadsy GodPeo udell wramwisEyssns
@rudu@ssoufib

(3) @iz A sngCatu sHPETIRL WEL YODUTSD
£Cyp Qan@asuurL @GHbLeL vuau@sd sfurer ufima CsrQs@asaybd.

(A) (1) wppid (2) L @b
B) (2) wogd (3) LLOD

[ © 1) wppo @) 0 |

D) (1), (2) wpmid (3)
(E) oo Qsfwcloaw
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INEN Arvange the tollowing in the chronological order :

(1) SKills acquisition and knowledge awareness for velihoest promsag
(2 Make in India

() Tamil Nadu Corporation for Development of Women
() National skill Development Mission

@), @, (4, (1

(B @), (1), (@), (2)

(© @)@, @.

D @, @, @, (1)

(E)  Answer not known

Caamaaapay steaflesiug Quisanssab.

(1) arpamgsy  Codumigpster  Apasaer Qupsd wvHmb &
&l oy auiey

2) @pAwureld gunt Qswis

(3) s8prr@ Quatmast Cobumn @ eyeamubd

(4) Cszélw Apar Covdurl @ Al

(A (3,2, @, 1)
(B) (3), (1), (4), ()
©) (3 @. @,
D) (). 2. @), ()

(E) ol Qefudoma
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yy oH |
Sle! MIHUH 00i b (11
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MY aas oA ) h;. R LU P VT gl 1L
» I LI TR TIRTY I T 3H | Wi Idlzho/\_* LY
RN 1§ )
O ‘ Uh ih
¥ A .
! lhi uh

IK' rdtn AR e

*"*

Who h IMHIIhI e, |UhHm n| ledh Avin’ h/ PM#II

oiumU”UioHol VhKhI Nhium»®
1V Whinni Ahim (fit [hll mn nser Loprenongnd
0'1 UInli (Ih I\/ |pH»nid4n/

(K)  Nvaway UOTH kg

l l*‘ll h/\Ua/\i h»Wh|n4J|O| fPfyInMOifiM* I|'|| | oo "!» ’ %% o & g A,

& sed Al N blij ojl el oy |AK”mOU r|OiR*! e A b Ha 1 st D,
D) Hhinaliah st pgh

‘n\\ .ﬁﬂupi‘ﬂ i e gt ||
(Ih N il e “Ji'l"'h"“-fl

(VI N{anru”‘iﬂ;l
(K| rfM u i,-lltﬂ.l"il- lrtllll,i'ﬁi""!

Thr uwphhwhil orTninll Nmin hwitlo'd Ih Mnrhip pJhv Ih

(Al K’inn mi yni?

(C) KOH ilh Kim*

(K)  Amwor iml [dinwn _

SN w0 Ajtt* kil Urad ™M™ N1 (e tWjht .xgnn
(A) 2tHI I(IllliI Lnkﬂ;

(O 201H

(K)  uMRi sl HAICHEP
rr hiuiv/Hi

HI
I'f 1IHi tevar
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IS, The radiug oF acivele is inereased so that its cireumference is INCTenge

by 6%, Find the percentage of increase in its area,
(A) 10,25 (B) 10%
()  56.5% (D) 25%

(E)  Answer not known

P uc . pdlen Sgmoneny, spgen sppeadld b baflseb -ﬂmimﬁﬁ
e whdmay aafle, =S gdlen upluaray ajsanar agaish oiflaflsEmd?

(A)  10.25% (B) 10%

(C) 5.5%

(E) e Quflusaiideny

139. The diagonal of a cubic room is 1143 feet. Find the volume of it.

(A)  3993V3 cu.feet - (B) 2178 cu.feet

(C) 217843 cu.feet (D) 1331 cu.feet

(E) Answer not known

1143 <y fergpaw gpedlLb Qardr g san F57 enpulle san syee
e 7

(A)  3993V3 s.mg (B) 2178 &.s15

(C) 21783 5.1 [ ™ 18lees .

(E) dleni Qpfluwehdme
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y water heater ig gq]q
l.ln d 50 1]}1- a tl"-'uh_-r rn
‘ r Rs. 10,502

Find the GST amount including GST at 18%.

[ﬁ} HRs. 1,802
(B) Rs. 1,602

(C) Rs. 1,620
(D) Rs. 1,820

(E) Answer not known

aalsl GOUT G gerelt Qardsamer 18% arig whpd Creoa afiuud

i r =
Csrgs - 10,002-45 Hppm. genafit Qsnfaaellan syé@ wHD Caamau

aflenwus snens

(A) o 1,802 C D) @ 1,51323

(C) o 1.620 (D) @. 1,820

(E) eAeoL dsfludame

141. The principle of transformer is
(A) Self induction (B) Mutual induction

(C) Lenzlaw (D) Fleming's Right hand Rule

(E) Answer not known

WSetriomh Hludletr pEEIQID <65

I@uﬁimnﬂg Lﬁsirrg;nmL.El

(D) YQanblln g @& 2L

(A) men Bangren®
(C) Qadney 88

(E) eflen Opfluailren®

Y 85 CCSE1P/2024
[Turn over

G Scanned with OKEN Scanner



i b IJ\ITJ H
142, Arrange the following Sustainable Development Gonls by -

(1) Zero Hunger

(2) Good Health

(3) No Poverty

(4) Quality Education
(A) (1), @), (3), (4)
(B) (3), @), (1), (4)
© @), (), @), @
D) (), (3), (1), 2)

(E) Answer not known

BeT sou afasiu@sdu aahgapr eaehéfls EDsGanasaer  sfiung
aflasiu@sss :

(1) udGenew
(2) pheampay
(3) agpenddamn

(4) syoren sdel
(A) (1), (2), (3), (4)
(B) (3), (2), (1), (4)

(© o000 ]
® M, @,
(E) e Gsfluddeama
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T Pared Chint wgy nlocted |,

?””il ? nry 'II' “l“lr i l{'h:‘-"h'h“l“l?,llr i l,""'“ilf* ¥

14

(A Spotbilled Pe)jegy,
() Maenw

(F) Answer not known,

(1) Flumingn
() Pigean

l‘l‘]d I' Ilb min IMI-‘F ”ﬂ' HHIJ'II’ L AT Jﬂﬂ;jmu; {";‘Li i wden il weerd ) .“,d{lhj"'ﬁ'a u“-’l‘-ﬁ- da
m;,l]ilm TR RT i T7 AT

G’s) ehoram oy Huu‘;lnE (1) Sondinian

() A (D) vipn

(F)  ehlearn Gaflusehldienw

144, Choose the right mateh among the following :

(1) Mard ~  Mangalyan
(2) Pinatubo ~ Voleano in Japan
() Crust — Inner layer

(1) Ganymede - Saturn’s moon

(A) (1) nlone 18 correct (B3) (1) and (2) are correct
(C) (1), (2) and (3) are correct (D) All are correct

(E) Answer not known

Bpsein_cuppietr sflunen QUNAZADS Gaha Qo :

(1) Qacueumi ~  iprusdiumes

(2)  QeamBGur - El.‘.lurruﬂm erflinena

(3)  Agev® Y LT

(1) snefA6 _ aafulen fleay

{"{ (1) o1 (b aﬂuﬂm@ (B) (1) wppib (2) sflwnanaar

on” (i
' n &l
[L] (1)1 {2} mﬂ}mlm {r” Elﬂ[uﬂ'mﬂ]ﬂl ‘.D} rﬂm‘ll'l!,g;ll_ﬂ ¥
(E) e Gggﬁhjsﬂﬁlmm
817 CCSE1P/2021
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5. Choose the right matches among the following :

Fountain Head of

[ndian philosophy

Musical Hymns
(ayatn mantra
Upanishad

(1)  Vedanta -

(Z)  Brahmanas -

(3)  Rigveda -

(1) Puranas -

(A) (1) and (1) are correct
(C) (2) and (1) are correct
(K} Answer not known

(B) (3) and (4) are correct
(D) (1) and (3) are correct

/‘I‘Er wBA cufuehfid sflurer Qunmisiaph Qzey Gl
E)d A #-,E-Q,Jiuﬁ:gﬁh At LILIEnNL
BlenaiiunLe

smusfl widnbd

(1)  Capnpais -
(2)  Agmpesmey -
(3) AMa Geumib -
(1)  yonesdiaed -
(A) (1) wpmun (4) &
(C)  (2) whges (1) 54
(E) dlonr Qafucidma

146.
chronological order :

e-Liflayd

(1) Sangeet Natak Akademi .
(2) Kalnkshetra Foundation
(3) Lalit Kala Academy

(4) National School of Drama
(A) (1),(2), (3), (1)

(C) (4), (3), (2), (1)

(E) Answer not known

(B) (3) wpgpid (4) 5f

@} (1) womb (3) arD

Arrange the following as per the year of establishment in th

(B) (2), (3), (4), (1)
(D) (2), (4), (3). (1)

Qaneumeuencupeann sraaflasiuy yapuu@iss :

(1)  studg pris maniid

(2)  asenCaaidlon (5gwib

(3) adls san marcid

(4) Cprapend cusd ol gamom

(A) (1), (2), (3), (1)

(Cy (1), (3), (2), (1)

(F) &flen Qafluctaeame
CCSE1P/2024
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)

(B) (2). (3), (4), (1)
(D) (2), (), (3), (1)
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(47. The poWer of Judicial Revipyw relates 1o

(A) Advising the President gn Constitutional matters

(B) Declaring laws of Parliament unconstitutional that are against

Constitution

(C) Reviewing the organisation of Judiciary
(D) DPreparing law to preserve the rule of law

(E) Answer not known

FHoyenTmiey sifarmd @agie Ggrfy@LiugnEd
(A) sirflueewly sMh5 Qasmpusdia @eures soeasd s Py

(=i} _- .'..',

Auemoldps THITE EILMEGoED Sl LA srdueanidds
&7

(pIyeRT T Ene aar fledlFEe

(C) £4 myeplen seoudaar Emisa) Palsd

- msee Qaran(d) adEL
D) s pPer sl

- CCSE1P/2024
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18, Consider the following statements on Right Against Exploitation .

find out the correct statement,

4 I . . w ¥
() Protection of Language, seript and culture of minorities

(i) Prohibition of Traffic in human being

(i) Proteetion of life

(iv)  Prohibition of em ployment of children in factories
(A) (i) and (ii) only correct

(B) (i) and (iii) only correct

(C) (i) and (iv) only correct

(D)  (iv) only correct

(E) Answer not known

Apssngpd snerigids, afmmer efaw updlu amnsdulsoa sael, sfiu
eundAlwuiisenan aeir (s,

) awsy aged whpw Hpurdewdefs senssmb whmw QumnSsa
UTEI&NE Fe

(i1) e sz 80450

(ifl) et aumpasdane ungamniy

(iv) Gpnfipsrenssled gypmp Azmfaramtsme 50450
(A) (i) wpgw (i) vLE &f

(B) (1) wpgub (iii) wc @b af

@ (i1) wppb (iv) wC @b & :|

(D) (iv) @b sf
(B) dlac Qzfluddaa
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i Consider the following statement about GST -

(1) Both Central and State taxes will be collected at the point of sale

@ hi; Central and State GST will be charged on the manufacturing
C0S

Which of the above statements are correct?
(A) Only (1) (B) Only (2)

(C) Doth (1) and (2) (D) None
(B} Answer not known

GST upfw &phssne gaqbaaia smsfi Cands

(1) sfilpue apaendd ngfu ordle igssd ams deoag
(@) wadlu, onfae GST e pusd gepuid dfssoubauy

Cupser sppaseld ag sflummg?

(&) () wopo (B) (2) 0@
(C) (1)-b (2)-0 (Frew(in) (D} egalu Fdau

(F) eflen Opflucidma

150, The Effect of deficit financing is

(A) increase In money supply
(B) decrease in prices

(C) increase in unemployment
(D) increase in interest rates
(E) Answer not known

uhm T ESND ggmnm;,,ﬂm chlanenay el

(&) uan ooy afsfion ]
(B) aflaasdr @ange

(C) Caepausnanio aHsfloy
M) iy chabd W@

(E) Herr @sMuedaad

91 CCSE1P/2024
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151, Which of the following

(1)

(1)
(1i1)
(1v)

(A)
(B)
(C)
(D)
(E)

statements are true about Mahatma Gandhp»

Khad is the symhol of the ceonomic programme of Gandhi
Gandhi started peasant movement in North Bihar

Gandhi wrote about ‘Quit India’ in New India

Gandhi's Satyagraha Movement was against Indian Natjo,
Congress

(1) and (iv) only

(i) and (ii) only

(i1), (iii) and (iv) only

(i) and (iii) only

Answer not known

lﬂmm@mmmg@ﬁl wangon anjdeowd ubfu sfurers spmad ereneu? 4

() anpBlen Qurmerngng Al gden Aenens and)
(1) @ide Sanfla Basmisca Buisteaz anpd Qan_tdlans
(i1} Ay GpHuredd) mnid GesdranerCa GarefiCuy updl erag e
(V) snpflar spBundlys Guisy Brhu Cabu srudlyallne afmens;
(A) () wppd (V) o Qb
@ (1) whmb (i) Lm;@u:j
(C)  (i1), (aii) whmb (1v) we b
D) () wppo (iii) v o
(E) el QaMwehidena
CCSE1P/2024 92 1
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152 Reason and Assertion type :

Assertion [A]

C.N. Annadurai organised small labour unions.

Reason [R] Labour welfare is related to time and place.

(A) [A] is true but [R] is false

(B) Both [A] and [R] are true; and [R] is the correct explanation of [A]

(C) [A] is false, [R] is true

(D) Both [A] and [R] are true, but [R] is not the correct explanation
of [A]

(E) Answer not known

anyamh whmb auellymsssd :

adupsssa [A] :  C.N. ssmanrger Ay QGanfpsshsed  HD0AS
ghur® @slgnt.

snpend [R] Qamfamat pad  aauEl Cprx  whpd @pmeen

@sm_fiyenL Wzl

(A) [A] &R, e [R] o
(B) [A]w ([R]e sfl; nhmd [R] ererug [A] & aflwren eflaTésd
(C) [A] gaum [R] &l

| erarugt [A] &@ efluner ST S0

D) [A] o [R] b o e [

(E) &fe Gl,:.:'i’lumﬁid!ﬁ‘lm
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153,

T TR N, e, . Al e

Arrange the i

(1) Bharatha Maths Society

(2)  Madras Muhajana Sabha

(3 Home Rule League

(4)  Madras Dravidian Association
A 3), (1), 2), (1)

(C) (1), (2), (), (4)

(F)  Answer not known

'ii-i"fﬁﬂ'-ﬂ—mmmm BTE mﬂmmu@;y&. :

(1) ungy BrEn sab

. 1 er
Mowing events in the chronological ord

(B) (2), (1), (4), (3)
(D) (4), (3), (2), (1)

(B) (2), (1), (4), (3)

J

(2)  Qoerenen DA g BenL
(3)  Camms mé Flwbsb
(1) wagney orehli siisib
(A)  (3), (4),(2), (1)

€ (1), (2), 3), (4)

(E) efla Qpfluciome

(D) (4), (3), (2), (1)

. According to Valluvar, what is Venmai (Stupidity)?

Arrogance that cries, “Behold we claim that glory of wise”

Fools think what they know is knowledge serene and pretend

(A)

(B) The fools would conceal nakedness

(C)

(D) The shallow who are lazy to listen to wise counsel
(E) Answer not known

Cevanmw aardufas wrlge adngrat sapdlori s
gnb iflQeunell uen gseunas oy Samsss Qams ;

N

(B) eLbeou me wn weapuug Gune Eipismer LEDEED
(C) ‘'senCg ancdr, Qanen_Cg Qandrans T BLOLg
(D)  wep pmése syl &faaqamy ghardiniad
(E) oL Qsfluddoa
CCSE1P/2024 9
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155, Match the authors with their magazines :

(n)
(b)
(c)
(d)

()
(B
(©)
M)
(E)

a"ill.l'[hl']r

Jeyakanthan
Na. E‘nrlhnnnrnthy
Kannadasan

Meern

(@) (M) () (@

2 1 3 4
4 3 2 1
1 2 4 3
3 4 1 2

Answer not known

o o

Magazine
Thendral
Annam Vidu Thoothu
Gnanaratham

Deepam

oA flutamer safseng BapsesLdn Aurmiss :

2, Al
(n) Qmusnhser 1.
(b) mn. untgssnyd 2.
(¢) ascmangrsen 3.
G &
@ ® ©
(A) 2 1 3 4
® 4 3 2 1
©1 2 4 3
GD} 3 4 1 tl
(F) SHar Qpfludide® .

joF et ly

Qzenpe

seans S0 srp
@nnm;r;a@

fun

CCSE1P/2024
[Turn over

G Scanned with OKEN Scanner



e e R R e e

156. Tamil Nady Disaster Recovery Centre (TNDRC) is located at

(A) Chennai

(B) Tiruchira palli
(C) Coimbatore
(D) Madurai

(E) Answer not known

sBlppr® Cufler By eowwnd (TNDRC) siowpgerar @b

(A) Qaenenen

@) ﬂ@#ﬂgnﬂum@

(C) Camubyss

(D) wgen

(E) &er Gsfludoama
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57, Under Chiel Minigtors il cnitg p
incentive of Rs, —

the 6 Year of de

rotection Scheme an  annual
: 14 given to the girl child every year from
POSIL In order to meet education expenses, the value 15

(A) Rs. 1,000/
(B Rs. 1,200/
(C) Rs. 1,800/
(D) Rs. 2,000/
(E) Answer not known

wppvewdsfld Quer @pbes Lrysmoy Ac afen Ap sacdls Qsowasae
rHEsembhETR E\Ei.l@ﬂurr@ S (i Duen @phengbE @b Qzrensfen

Geug e[ apsd aurisu@ib u@mLnidr wmingtgranslean oy
(A)  em 1,000/

(B) @ 1,200/

@ a5 1.800!§

(D) . 2,000/

(E) aflen QzMwelldencs

158. Which Housing Scheme assures a house not only tu.the homeless slum
dwellers but to the urban poor, LIG and MIG categories?

(A) MUDF (B) TNUDP

(C) JNNURM (D) PMAY(U)

(E) Answer not known
‘ &8 \nd&En&E WL HDdang B&T q’mi?nh.
Sflen erhs @I e Hroregl mu.L.bm.[T Dssr autds wasE@s&ED S0 e

GapEs GuHLOTEID o creTautsdr 0D
emdl Qesndlng ?

S (B) TNUDP
@) d @ PMAY(U}j
(C) JNNURM
(E) eflen ﬂglﬂuﬂﬁlmm
s 97 i
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159, Read the fn]lnwing :
(M Dream Home Scheme for Tamil Scholars.

(D) 15 cents of land frec of cost in the preferred places in their gy

district,
(ITD Tamil writers benefit through the scheme in Tamil Nadu,
(IV) Only 5 cents of land for those writers.

(&) (@), (IV) only (B) (I1), (I11) only
(C) (1), (IV) only (D) (I), (IIT) only

(E) Answer not known |

aunsdlumamer aurdss:
D sea @oas Hirn 58y SpLIUTETE @S,

(I) saugar wran Lhuselld e eflmluling 15 Qedar. Haws

QuPRIELIL @D,
) sl prig, slP erussrerisdr QP L gad LwereAenpan.
V) 58 arpppremiawsbe mps Qsar Hou QUPRIBLILRID.
@A) @, (IV) e (B) 1), (III) wc G
(©) (), AV) wc s (@) @, (1) 0 )

(E) feoc Gsludden

CCSE1P/2024 ‘98
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160. A does 20% legg work th
an B, If A ean complete a picee of work in

1
TE hours then B ¢

qan liﬂ i{ in

(A) 6 hours y
1 ':H:' E"E‘ hours
(C} b— hnurs 9
2 ':D'} E*_'-l- hours

(E) Answer not known

A ereéueuir B erérug
i) ano
7 eEl. 20% @Eenpeuns Geuaney unt&fprt. G Gousnaeninl

1
T— wexll Gmys :
A 2 wesfl Grrsdd @i Lumrearnéd B adieuerey Grpd er@ount?

E{A} 6 weafl Gryd j (B) 5% e Gy

1
(C) 5‘2_ werfl Cmyw (D) EE:- wefl Gpyh
(E) <A Gafluddae

3 days and 3 women can complete that

161. If 4 men can complete a work in
the following is not true?

work in 6 days, then which one of
6 women can complete the work in one day

(A) 8 men and
lete the work in one day

(B) 6 men and 8 women can comp
(C) 12 mencan complete the work in one day
(D) 18 women can complete the work in one day

(E) Answer not known

g Geuenaenit) 4 ojclnEe 3 ,!EITL'-&G"ﬂE'ﬂ apyruf  wHDID s Capaw
: uir erefld GenqumeuanauhpeT SnreEg TE7

3 Quarser 6 priaeld @Y
6 Quenser 961 wrafld Camamu apig it

L .
E[Ag); 2 j::: igim 8 (] L el &&T gﬂrf _,r_r;.na‘i‘.d} Coaranevan) (\piguun

12 syeuraan SibS camaa FET peie) quu.un

(D) 18 Quaraet kP Camamu §ET mrefldd apigiuh

(B) ofeo Qe Mwailo@e
99 CCSE1P/2024
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n increased by 5% and durin
If the total populatiop ;
the population size ;

162, DUTiI'I[.". one year, the ]H'l]'iulﬂli'[]" of a tow o
the next year, the population decreased by 270 3
9,975 at the end of the second year, then what was
the beginning of the first year?

(A) 9,500 (B) 10,500
©) 9,975 | (D) 10,000

(E)  Answer not known
S @HUE L anLgfld G parsden wEse Caras 5% &@Em#ﬂmﬂ- G%ﬁa_
SEDE Bs awnLsHd whasr Qs 5% GOPEDE: @uemLTeugl e

Wudld> Qungs wsad Qpras 9,975 aald gperd g OsTssi)
W&&ET Carens ereauena ?

(A) 9,500 (B) 10,500

(C) 9,975 |

(E) e Qsfueivea

4 3
163. What fraction should be added to the sum of 5%. 43 and TE to mak

the result a whole number?

1 2
(A) 10 (B) 20
9 4
© 40 o 40
(E) Answer not known
3 4 3 . .
531 4E LoHmth TE Bapdlar mpsaudn aps deransemss sl og @ (U
crement G ?
1 2
A SR —
@ .5 B) 40
3 4
(E) dfleor Qasflwelldana
CCSE1P/2024 e ¢ '
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04, which of the

Tl :
J I'WII!H “Iml"l"-'lll'lnn_q nre i“"r“ﬂl?

A pinsenper ; : .
(A) I REY I n trenin which s slowing down to a stop

(1) Adriverin g o, moving with
() A pilotinap

a constant veloeity

mrernft whiceh is tnking off

”]) A child rl'v”"""i"l: inn llll!rr}'-gﬂ.r”"n[]

(%) Answer not known

J:wnrfliﬁfbllh }ﬁlu.wummﬂm ey flaiqoinih 7

(13)
(C)  ewry aupibd updesib dlwragflen etiore

]ﬂmmumm seLlagaldy Wadignb mn

(D) g giliqendfld apmd G GYies
()  eflen Cafluaiidma

165. The article that states the role of scientific temper 1s

(B) Article 51 A
(D) Article 14 A

(A) Article 35 A
(C) Article 32
(E) Answer not known

tific temper) upbf sagpib ar L Cn9fley

@ scL@flgy 51 D

(D) scLindfla 14 A

-ﬂﬂﬂﬂum mmﬁ]m;ﬂ (Eﬂiﬁ'n

&) seoo@fia 35 A
(C) scLo@fay 32
(E) &fer Qpflwedlo®®

CCSE1P/2024
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166. Assertion [A]:  Organie farming 1s becoming increasingly popular as if

protects the environment.

Reason [R]:  Organic farming based agricultural system that uses
ecologically based pest controls and biological fertilisers

derived from animal waste and nitrogen fixing cover

Crops.

(A) [A] is true but [R] is false

(B)  Both [A] and [R] are true; and [R] is the correct explanation of [A]

(C) [A] s false, [R] is true

(D) Both [A] and [R] are true, but [R] is not the correct explanation
of [A]

(E) Answer not known

spp [A]: sflb  Cauememews @wd  urgsresLiuastd,  Qurdu
erepuid Quaven is wEdpg.

snyemd [R] : sdmé@wa sizoueQaren U#éls s QLuTRsst it ks
sflasdt wHMG  @pCTRE@e Poafinszid Llrsefls Briy
Qupince 2 @fwd e qusmern LuEuRian Qupes
Ceuetnamenin =i tiuen@arer edausmy paD.

(A)  [A] cemenw, semd [R] saunmans

[A] wogd [R] @ren@od o e epod [R] ererug [A] @ar sfwrer
eflaraan

A sauprang), [R] e amanio

(D) [A) opmo [R] @ren@in o g
: &
lerssn Boow anen. geme [A] aeuspe [R] shwner

(B) o Qsfudidme

Y
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167 Which of the nt]nwing pairs are correctly matched?

(1
(2)
(3
()

(A)
(B)
(©)
(D)
(E)

Tribe

Limboo (Limby)
Karhi
Dongaria

Bonda

(1) and (3) only

(2) and (4) only
(1}, (3) and (4) only
(1), (2), (3) and (4)

Answer not known

State

Sikkim

Himachal Pradesh
Odiya

Tamil Nadu

Apsan_eubper eraney sflwra QurmsHujerarar :

(1)
(2)
(3)
(4)

@enih

SbCun sdagy by
&M
Carmuamflum

Gumrerm

A&

(1) wign (3) O ]

(B)
(€
(D)
(E)

(2) opmd (4) LD
(1), (3) womd (4) wCEub
(1), (2), (3) wpmw (4)
Ao Qsfudda

103
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A&&n

Blondsaw’ GgGgab
Gl

gl Bl
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168, Consider the following statements on State Information Commission,
Find out incorrect statement,

(1)  The Commission consists of Chief Information Commissioner and
not more than 5 Information Commissioner,

(i)  The State Information Commissioners are not eligible for
reappointment.

(ii1) The Governor can remove the State Information Commissioner.

(iv) High Court Chief Justice is one of the members of the committee
which recommends State Information Commissioner.

(A) (1)) and (iv) are incorrect (B) (ii) and (i) are incorrect

(C) (i) and (iv) are incorrect (D) (i) and (ii) are incorrect

(E) Answer not known

wifle gaed oumemnub upRlu Spadr sbpsmer saall. sapraauheap adn s,

(i) SHEO@MUD @ FOQ@n  Seemul uHmb DHssE Hamoed sseud
p@anuiiamer Qaneirg (rés Geuarib.

(1) wife sgswd seenuiser Laflld swigstulL Ope Sen@w Ly
Ruveddie &@Hua Ut side.

(1) wrfle ssmd syamarumy enmt ugell fémb Qaiw apguyb,

(iv) wnflo ssad es@anuigyss soauisoa ulagoréEd Ewdd
wnplegdlar e wirfduenp semwan FHAuHud gm o miiber.

(A) (1) wppd (1v) seum (B) (i1) wpms (111) seupy
©) @) wpgod (v) saug (D) (i) whpbd (i) pougy
(E) <lenr Qsfuelidena

169. A State Human Rights Commission inquires into violations of Human
Rights related to lists enumerated in the

(A) State list (B) Union list

(C) State list and Concurrent list (D) State, Union and Concurrent list
(E) Answer not known

Lnrrﬁq maﬂ_g. o fleow syomrwb, wafls o Maow Sposa Osttuter Spdses
Henfés Spsam vl wella @wis Cuplsrdreranb

(A)  vrie ulgwo - (B) genflu uegwa

(€)  wnfle whmb Qungy L guwid (D) wrfle. ganflu whmb Quag L quid
(E) fer Asflucdome

CCSE1P/2024 o104 Y
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- Wh called e “”.“““ 1
T i atitd AP g

A K.(. Whesre
() Lar | -Ji-murr..::-.

'] # 1 #
(F)  Answer no known

- . nifestn of
nneiples of state policy as “n manifestn

(I3 'I.T. Krishnamachan
(D) B Ambedkar

F ; " - f - = F o l. r"f
p1p CMUGUIA Yarhaana “Quckarae whge Sagessta ST g

#ﬂ-&i?’h'ﬁ ik

(A) Cak Ges (B) & &csyparotsen
H:j 4" Feu ':.i&ﬂ’ﬂ{ L. (1) At S GUEET

(E) e YaFukdiuc

out the
171, (unsider the following, statements on Fundamental Duties. Find
incorTet statement

() Paying taxes

(i) Safeguarding public property .

(i) Pre seerving the nich hentage_ﬂf the country

(jv) Casting the vote 10 the elections *

A) ) snd (11) are incorrect (B) u_n and full ﬂrf.lﬂfﬂ:;:‘
(C) (ii1) and (1v) are incorrect (D) (1) and (1v) are 1nCO

(F) Answernot known

2og Lt

(1) whsxs LrgpspEe -

5 oy g LngET, ,
(11) GuTE Lsrigasd e Lf" puflusas Cuarids s

(111) Z2hwa& i

(i) h*i-""’;"l”’:rw (B) (ii) wope (1) g0
el 1) B 1) iz (1V) g
Rt P Clduina
(B) cBa Bpfudod®®
10 © rura over

. ih " ; :
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172, Deendayal Antyodaya Yojana is for
(A)  Reducing rural poverty
(B)  Reducing infant mortality rate
(C)  Reducing urban poverty
(D) Increase agricultural production

(E) Answer not known

Senguiman < bACuTgLT Hlid o randsuulLE
(A)  eags penaus FEanks
fls wrew eSpsems GoOnis

(B)
@) BSILUD eupannawé @mm@
(D) Geuernan o pusPerws ifafsa

(E) el Qsflueldema

173. The motto ‘One Tax, One Market, One Nation' is associated with

(A) Central tax

(B) Corporate tax
(C) Goods and Services Tax (GST)

(D) State tax
(E) Answer not known

'gCr aufl, Gy epeng, @Gy pr(p’ erenp Quren@umf esgudn AsrLtyeLws

(A) wiHu e

(B) flpear el

@ #745 whmb Craeu aufl (GS@
(D)  wrfle af

(E) e Qaflucideama
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I-T_l Arrange the rU"HWinH

(1)
(2)
(3
(4)
(A)
(B)
(C)
(D)
(E)

events in chronologien] order -

“ﬁWTﬁTﬂﬂnt of India Act 19345

Gandhi-Irwip Pact
Communal Award

Cripps Mission

(1), (2), (3), (4)
(3). (2), (4), (1)
(2), (3), (1), (4)
(3), (2), (1), (4)

Answer not known

Gereumb Bapea samer sraaifeaatiug Guphs@pasaLb :

(1)
(2)
(3)
(4)

(A)
(B)

Bpdu sl s> - 1935
smpd)-@hefldn gUUBAD
agouas 95850

ARCe BIEEGM®

(1), (2), 3), (4)

(3), (2), (1), (1)

(C)

(2), (3), (1), H?j

(D)
(E)

@), 2, (1), @

Har Qpfuadde®

CCSE1P/2021
IDT l“[‘urn aver
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175.

176.

- ———

i CCSE1P/2024

According to Valluvar which one is compared to hand of one whos,
garment 18 loosened?

(A)  Friendship (B) Baseness

(C) Renown (D) Evil friendship

(E) Answer not known

e Rbeos Bpisaued wsCurle caushe adEsal asoa guERLDTH?

(C) ump (D) & piy
(£)  der Qsfludoma

Thirukkural has got ‘Quality of Religious Equity’
— The reason for this remark.

(i)  Accepted by all religious people as theirs
(11)  Accepted by both theists and atheists

(i) Kural is beyond race, caste, religion, sect.
(iv)  Kural teaches all virtues to Mankind

(A) (1) 1s correct (B) (1) is correct

(C) (i) and (iv) are correct (D) All the above correct
(E) Answer not known

‘sow pEfoer ueny' Qaneim g HméEner

= erenuni sapmis@s &nyermid,

() adans svwussamb s pred eremy sapud ApLyu@uppsmd
(i1) ;;?jugigﬁngmuwﬁ wCAlad @dena TeTUAImD 2 aiks ghED
(il @emd, snd), soLB, UEUY adanaipiibEd eumhuc srd

(iv)  welflg Besdben Qurgeuren Wseqpd sifleyd HiflamssuLPasnd
(A) (i) v @w 5 (B) (i1) wc@w &M

(C) (i) opgus (iv) a8 (D) weoass
S&ID &ifl
(E)  deol Qsucdivae I: j

108
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1

=7, Match the following -

(a) EV.R Pt‘!'ij.‘nr
(b T. Muthuswam;i

(¢) Madras Mahajana Sabha
(d) Bharathivar

@ M  (© (@
(A 4 1 & 3

(B 1 4 3 2
) 2 3 4 1
(D) 3 + 1 2

(E) Answer not known
Saapaaapep QuItsys ¢
(@) m.Ganm Quflwnd

b) 4. igsmd

(¢) QLo pETGE FUT
(d) wogBunf
(a) (b © (@

CENEEE

m 1 4 3 7
4 1

=

i W et »

[ B
:

LS

109

Syynaeunssnd

. First Indian Judge

Veeraraghavachan

Puducherry
Kud: Arasu

oES @sfu L

ccsEpr2o2d
[TI.II'H u\'l'l'

e
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178, Whieh of the following 1s incorrectly paired?

(1)  World Water Day — 220 March

(2)  World Environment Day - 220 April

(3)  Earth Day —  5th.June

(4)  World Energy Conservation Day - 14" December

(A)  (2) and (3)
(B) (1) and (3)
(C) (3)and (1)
(D) (1) and (4)

(E) Answer not known

Seneymevaraudfld evg) seupns Renamaaiuc [Hedreng) ?

(1) zon geralt Hand - wonid 22
(2) oo appsspd Heanb _ - gl 22
(3) W o ——

(4)  cos Hbipd ungsniy fend - igsbui 14

(@ @uppo(3)

, (B) (1) wpmn (3)

(C)  (3) wpmd (4)

M) (1) wpmn (4)

(E) e Gasflueldena

QFSEIP;’ZUEJ 110
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79, The temple

for “K i
1 r “Kannagi” wis constructed by

Karikal;
(A) Karikalan () Senguttuvan

(C)  Ugraperuvazhydhi (D) Nediyon
(E) Answer not known

sanandl’ &, D Camfldd sl Loy,
{ﬁ) aflameuen @ Q""‘L‘.’)F—E‘ma
(€) =24@upanyd (D) QpigGuimes

(E) o Qafuddaa

180. The Uttiramerur inscription reveals

(1) Village Administration

(2) Written Constitution

(3) Perfect Electoral System

(4) Paranthaka Administration

(A) (1) only (B) (1), (2), (3) only
(C) (1), (2) only (D) All the above
(E) Answer not known

&

o 581Cwesi sh@eul(las Gafladuuma

(1) fgmo Braunad

(2) egstuiL sndlu Si@udy

(3) puevwre Gstsd oD

(4) uprpsseflan Biaursd

@A) (1) w@d ®) (1), @), 3) vLOd

€ (1), (2) LS (D) Giawmodil wmenii )
(E) Ser Gsfuddae

o RS R Rk ek 8

G Scanned with OKEN Scanner



181. TICEL is associated with
(1) Rubber Park
(2) Textile Park
(3) Food park
(4) Bio park

A) (1), 3
(B) (2),3)
(C) 3. @)
D @

(E) Answer not known

TICEL @sCGan(® Gsmtyeme ois
(1) @oout ywisn

(2) gayef yhisr

(3) eceweypisT

(4) =94 grsn

(A) (1), (3)
(B) (2), (3)
(C) (3. (4)

(E) S Qsfudoss

CCSE1P/2024 y 112
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182, Which are the Lonstitutinnag|
hackwiard claggey “”H'H}"

(1 Article 15 (4)
(2) Article 16 (4)
() Article 17 (1)
(1) Article 19 (2)

provisions for the protection of other

(A (1) and (3 are correct (B) (1) and (4) are correct

(C) (1) and (2) are correct x :
(E) Answer not known (D) (2) and (3) are correc

G OhuEAsau i denflar (OBC) unman Shanar srflueaniy elfae

nened ?

(1)  =ofarmd aan 15 (4)
(2)  dlarqd adn 16 (4)
(3)  esdlarpd aran 17 (1)
(1)  oflsnd aen 19 (2)

A) (1) whmb (3 (B) (1) wpgd (4) sflwreng
(C) (1) whpd (2) eflwrengy (D) (2) wpgd (3) sfwrengy
(E) dfleor Qafluehidama

183. Protection of women from Domestic Violence Act, 2005, protection to
women to ‘live in violence free home’. Though this act has civil and
criminal provisions, it also enables a women to get immediate civil

remedies within days.

(A) 40 days (B) 50 days
ays {D]‘ 65 dﬂ}'s

(E) Answer not known

a1 ungend@n sl 2005, QuensEshs

stod. @izé sl gdd deadd  wppd
ummLiiT EL.ETH]. Afla Jreysamers Qup

80U argpamde Goss Oudnse

"mm@mg-ﬁlmmn ampeughanar U

Mferd) Afser @opsrad @9
gl &dn wl B o gaydIpgl.

(A) 40 prcaser (B) 50 priser

(C) 60 B se (D) €6 gmser
(E) e Qsfluclidas
113 CCSE1P/2024
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184. In n class of 35 students Kamal is placed seventh from the botton
whereas Suresh is placed ninth from the top. Ramesh 1s placed exactly i
between thetwo. What is Kamal's position from Ramesh?

(A 9 (B) lt]
(€C) 11 (D) 13
(E) Answer not known

G g ndd 35 wrenauhadr e dmart. EPSmba sensdRpGung HLD TeTUa
gpresy @Usdd eaart, Gud E@pa sarsflQn Curg &Gray Temuas
geusray BLpHd et gloay el Aadmansen Hondl
o_crerni. gCwaY o Len ud@dn Gung 80D Ths EALsfHd edranmi?

(© 1 (D) 13
(E) efler Qzflweldenay

185. What is the probability of getting a prime number as a sum from twi
throws of a dice?

v 13
(A) 18 (B) T
15 17
(C) T (D) %

(E) Answer not known

Br weop g0 usaL G Lu@h Gung ampsons usT e Ha_bs flapssa

eTemen ?
7 A 13
(A) 3 (B) 6
15 17
(C) % (D) 36

(E) e Gpflwelidena

h CCSE1P/2024 114
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- Find the greatest numher which on dividing 1657 and 2037 leaves
remainders 6 and 5 respectively
(A) 95 (B) 381
©) 127 (D) 254

(I5) Answer not known

1657 wppd 2037 wmydu censmer a@amb Cungy aparplu 6 LOJE 5 Sherws

gré sigw el Guflu edr ag

(C) 127 _ (D) 234
(E) cHlen Qaflwuetlidenay

187. The greatest number which can divide 1356, 1868 and 2764 having the

same remainder 12 1n each case is ?

(A) 64 (B) 124

(C) 156 (D) 260

(E) Answer not known

1356, 1868 whpb 9764 myflw s ciEAad sagl Qufin aansdr B4 12

fen_dgd el SAbS can agars BHEHESD?

(A) 64 (B) 124

(C) 156 (D) 260

(E) efenL Gpﬂusﬂd:rmm
:"M - CCSEL1P/2024
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188, Which 1s also called as Triptane?
(A) 2,4, 6~ Trimethyl Benzene
(B) 2,2, 4- Trimethyl Pentane
(C) 2,2,3- Trimethy]l Butane
(D) 1, 2,3~ Trimethyl Butane
(E) Answer not known
gl gAUCLen aerajb @@pssiu@dpg ?
(A) 2,4, 6-yger@oidd Querdd
(B) 2,2 4-ger@uifsd QuaCean

[© 22 3-qo0080 Guctia]
D) 1,2, 3- gerQuAd GucCoe
() e Qsfluddadae

189. Among the following, which will have highest dissocintion constanf
(ka) value?

(A) HCIO
(B) HBrO
(C) HIO
(D) HCIO;

(E) Answer nﬁt known

Spsargnib oflonsdld ofs Ifms wrfld (ka) Osram onfab g ?

(A) HCIO

(B) HBrO

(C) HIO

(D) HCIO;

(E) &flerr Gsflueiiaema
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190, Storm in UAE

ssertl ’ . _
A ion [A]l ¢ United Arab Emirates faced a severs thunder storm,

brought one of the heaviest rainfall on recoril.

Reason [R]:  Causes for the heavy rainfall is due to trade winds and

waves,

(A) [A] is true, but [R] is false

(B) Both [A] and [R] are true, and [R] is the correct explanation
of [A]

(C) [A] is false, but [R] is true

(D) Both [A] and [R] are true, but [R] is not the correct explanation

of [A]
(E}) Answer not known

paAL SITY ACT el 1w

spm [A]:  @idlu S0y AGy e af@ouner @quLen Sl LEREE aft

Qargr g
amyab [R] : uags w@REETE srq@nisdT sudgas anpm LADID DT,

(A) [A] eflureng. ayannd [R] geup

(A] wppd [R] @re® ofl. LHY

b [R] edrog [A] Spe sfwne

chlenémD
Al
(C) [A] gaum. @ [R] =
D) [A] wopo [R] @ren@® ol aarn® [R] eoop [A] ©56 sflumen
Aersswodd

(E) efle Qs Muwchldband
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191-.»’|rh'rishna Devaraya belongs to dynasty of the Vijayanazs,
Empire.
(A)  Aravidu
(B) Saluva
(C) Sangama
(D) Tuluva

(E) Answer not known

. . : : = 5 Fg-az- &
mesan Caaupmur Ay part Cugréles TRy GULFEEE WFTILS

(A)  =peip
(B) sgpeun

B9

{C} ERJELDM

® sorl

(E) eflen Qsfludfiee

@ The great religious thinker and philosopher Shankaracharva was born

111

(A) Kaladi, Kerala

(B) Kanchipuram, Tamilnadu
.(C) Kasi, Uttarpradesh

(D) Kolkatta, West Bengal
(E) Answer not known

fpks waés@enuneimb, sinugneliunne suarmistiut Sris o

B) argdyme. s8psrE
(C) &nd, 2 587 0Css0>

(D) e&dsgan, Cuohe adsrand
b (E) Sear QzAwel deea
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gy, =t |
194, Uype of Indus pettery i the ezl “rzmple of 14 ind
the ancient werl

(A) Ineisedd (B) Claged

(€C)  Knobbed () Perfurated
(E)  Answer not known

D wwadane figeslad ol ucer_r Laree i 5 adkd
(pperennd anenfnnfy Gasdes

fﬂ} Eeuc UL @ Ll *'ﬂ"j

(C) emilfinuce (M) gererdl Lan’e

(F) eflen Qafuslicane:

194. Which of the following statements about the Harappan Civilisation 13
not correct?

(A) Pipal and Acacia trees were regarded as celestial plants

(B) Terracotta female figures are considered to be representation of
mother goddess

(C) The people of Harappani Civil
hy the method of cremation

(D) Indus people worshipped the prototype of siva

(E) Answer not known

isation never disposed of thelr dead

r prafas s 4 sepra@ 22 vET

Qeraumeuemeui e goyuu
g OTOTEA SE UL
¢ wrapd s OTSMER &
A) s oOOpE T =AU S -
o s G Gl-,f,limmu?n* Grififdgannns 808 &
(B) aseflwetr Gl E& g gaars Griud ez

-
O i B

Gerunpelldaa
D) Aechis ) wahes P
(E) eflen @pflusdida®

L et
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195. Assertion [A] :  Attorney - General of India has the previlege

addressing both the houses of Parliament.

Reason [R] . Attorney - General enjoys the same previleges and

immunities as the members of Parliament.

(A) [A] is true but [R] is false _

(B) Both [A] and [R] are true; and [R] is the correct explanation of [A]

(C) [A] is false, but [R] is true _

(D) Both [A] and [R] are true, but [R] is not the correct explanatio
of [A]

(E) Answer not known

anpm [A] : pringmoapsBdr @G easdgd  LeTuTiy

Anflewn G seaan apsearanhs .
smyembd [R] : prumeswodrp e guletsmer GurenGp Gpdu zeea

péE@rEiEHe Spiy sgessaenub ellassat Ly saeny
Q& nam(Heranm.

A)  smpm [A] 6fl, samd amrann [R] sam
T [ Bomis  &nmenn Tar@n &M, wpmbd srremd [R

(©)
(D)

(E)

sadm [Alaflér afluner efletaald

sapm [A] seum, e smemd [R] #M

spn [A] vppw smewsd [R] Breén@o &f; semd smpemd [R
ampp [Alefen sflwren ferésnan

e CQsfluchdema

196. Equal Justice and free legal aid to the poor are guaranteed under

(A) Article 39 (B) Article 39 A
(C) Articled3 A (D) Article 21
(E) Answer not known
gapaamss S0 £  opmpd  Bows sl osd aén &
Lﬁ.ﬁqmmﬂu@ﬁgﬂuf_@mm@ g B ¢
(A srduamniy H4 39 C{B} <irflwaenoi el 3@
(C) Snflwaenncy 04 43 A (D) srdusevay & 21
(E) eflenr Qsflweidama
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I”'J ','("h“'h JuinRiinpge H'll'l f"”fl'ﬁ”““ Wne JI""I’H”H-;;;I in l]r””” Ii'"]ﬂ"t EHHE‘H:L

with el ocvop nasessanent, digitisntion of land records and BpPraying
ol dnvseetieides nnd patpientq?

(A) I'M oVidyn “’ll;l I'M Hnm;mrln

() Hoshiteiyn Krishi Vikns Yojana (1) Kisan Drones
(19 Answer nol knowr

.l'lll:mi.l|I1T,|l-lil-ﬁ"--1||'|-|l.y“r"r bl ”lﬂ.‘l IIHJ‘IF;JJL If,'i,l-,] ,I'Il’:m]m]rl;;q."'i" qu(il'_l-ﬁl Lnujhrlrr*{zﬁm‘
LL""W" Lt el gy I'..lfr.u'i'lp.p.ﬁn lhﬂjmrh !-Hl_l_#-!ﬁ,ﬁ;.ll,.g,m q-!&,lﬂlllﬂ.id rﬂ.ﬂ.ﬁi‘ m:!_i]-“
N 'rl'lrldl :'If{':j:"t':ﬂ:i ﬁ! -'j|ﬁ|r{,ﬁtﬂ'#||'”Jl_l LG Erﬂ “

(A} D anih. leblgm (I3) & eun. sbign

{f:} ””l-:t‘]ri ﬁl“l D'Hﬁlﬁ.(" |.ﬁr,ﬂ_”ﬂh [’:u”pmm" @ ﬂﬁ”m L_'.GI'JI'Ti-iﬂE
(K efilen . Watinichldiene

108, "Kirsnn Inth” o friendly Mobile App is launched for

(11 Laoeote the Mandi
(1) Transporting ngro-products
(111) e-trading

(A) (i) only (B) (i1) and (iii) only
() (1) and (i) only (1)) (i1) only
(K}  Answer not known

“Benmen g” erenm Qawichl p)aparac uweru®@fpg

(1) A e g enu b, ol
(1) Cenwrnsdar Qi men Gura@eunsfipe

(1) fyememius eupfl cuaflab

(A) (1) e () (11) wpmb (1) w G

() (1) vty (111) il (b E‘[n] (1) ML@D
(K) whlean_ Gy flusfildiena)
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199, Choose the right matches among type

() Rajaji _  Sakravarthi Thirumagal
(2)  Subramania Siva - Prabanchamitran

(3)  Bharathiyar ~ Kadavul Oruvare

(4) V.0.C. — Meiyyarivu

(AY  (3) and (4)

(B) (1), (2)and (4)
(€ (2),(3)and (@)
(D) (1), (3) and (4)

(E) Answer not known

sfwre Qurmpduararaipann Carey Qaws :

(1) @ongred - shpauisd Smwser
(2) =0Qqoeflu flar  —  GqugnsligHyen
(3) wrpdwnd —  sLayst @meuCy
(4) .28 -  GQuiwudley

(A)  (3) wppo (4)

(B) (1), (2) wppe (4)
@ (2), (3) wpgud (@ |
(D) (1), (3) whmd (4)
(E) e Osfudaome
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oo, Reason and Assertion type :

Assertion [A] ' Mahatma Gandhi suspended the Non-Cooperation
movement in 1922 due to Chauri Chaura Incident

Reason [R] : Subhash Chandra Bose and some other leaders
opposed the idea of Non-Violent struggle

(A) [A]is true [R] is false

(B) Both [A] and [R] are true and [R] is the correct explanation of [A]

(C) [A]1s false, [R] is true

(D) Both [A] and [R] are true, but [R] is not the correct explanation
of [A]

(E) Answer not known

snqemh WHmD sahm

smpm [A] 1 1922-0 wanguwr srpd saifl sy Papand gig@gurEe
Gusspos P,
smpamd [R] ¢ surdy  epdiGurév  wppid flo saoatss a@g@pUdD

Cungri b e smpbag qdlippan.

(A) [A] &A [R] seup

[A] wpmd [R] @rean@d efl wppo [R] edug [Al-dgecw sfure
eflendaib .

(C) [A] paugy [R] &f
D) [A] wpgo [R] @ranGd f.

cHleraanda

(E) Hen Qefluddaama

aand [R] - [A] Sgew sfune
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